0238 E 20ilaF LetelH SN0 ~ ALY 2R

A SAE M
M AurAlE=R XX
Celr SXAY JI26Ad =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 199,235,902 167,380,268 31,805,634
= 132,886,467
[ 4,099,573
= 16,302,707
Al 46,947,155
LEALRI S A =8 19,506,570 18,190,658 1,315,912
= 3,037,610
= 1,696,542
Al 14,772,418
SAAME JI202H =4 5,739,101 6,158,470 419,369
[ 3,037,610
= 746,694
Al 1,964,797
LES XA =8 12,000 11,250 750
201 er2 3| 10,000 9,250 750
01 AtR2te|HI 10,000 9,250 750
OFRAHEAM M= 100, 000& 20 2,000
O=gREIA M=
10,0003 *2105+32] 6,300
O =5 MX 70,0002 *10H 700
OosAdgd 2 1= 1,000,000& 1,000
203 =2l 2,000 2,000
03 A= PR FZ| 2,000 2,000
OAtg =g = 2,000,000& 2,000
KNS A2I SR D18 2= 7,560 7,560 0
201 2= 600 600
2 S52g4l 600 600
Ol =Xt SSHEAIAE SRS
50,000 * 122 600
203 HR=H| 6,000 6.000
03 A= PR FAI| 6,000 6,000
O=XZE BHor Y QIRA E7
6,000,000 6,000
307 21201 & 960 960
01 2272 H| 960 960
O™ X+ 7Ot 04l 10,0002 8+ 123] 960
NeAte 28N 22 634,125 626,411 7,714
307 elztol & 634,125 626,411 7,714
02 LB HAHE L 57,210 34,400 22,810
OXS A2 2ZE M At 57,210
O2oH=23Hl & sHsE2AMEd 2t
oS 57,210,000 57,210
03 YIAHHEE 22X 146,915 162,011 15,096




2A:

SINESES I}

B UBAIBIEX XX
=2 SXAE Jl20id =4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNS A2 2EEAH 24
146,915,000& 146,915
1 AMEISXAIEEXS 430,000 430,000 0
OsHs UI=SXAE Xd
430,000,000 430,000
NASE sd WsHl AF = NA(cn=F) 13,789 9,848 3,941
101 e124d| 13,789 9,848 3,941
M ORNZZ2NSE S 13,789 9,848 3,941
OMASE =T -1 stdusH| MF -
A& 13,789
(@)uFal:] 76,9603 x7H+232 1 12,391
@ZN L-=y=: 1,398
=8l 12,391,000 4. 5% 558
-AL2E 12,391,000 *3.58% 444
“HAIRYEE 447 0003 *12.27% %5
A== 12,391,0002 %1.75% 2177
—CHHEE 12,391,000 * 1% 124
MEI=XE2le MG 300,295 248,802 51,493
307 212+01& 300,295 248,802 51,493
02 LB HAHEE 19,700 9,700 10,000
OMI=EXE 22 At 19,700
OUERHA XIEAMH 1,700,000& 1,700
Oots&Ead XA 8,000,000& 8,000
O=KHaA 1AW= 10,000,000& 10,000
03 M EE2SHIEX 210,59 191,602 18,993
OA2I=XIE e 23 210,595,000 210,59%
11 AMEISXAEEES 70,000 47,500 22,500
ORIZFALSISXIAL XM IHE AL 70,000
OBIZHALZISTIAL dlelaty
40,000,000 40,000
OAIRISXIAIE SAR &3 s
30,000,000 30,000
A2l =XIE2sl AFERIE 8,890 9,000 A110
= 1,778
Al 7,112
307 elztol & 8,890 9,000 AT110
= 1,778
Al 7,112
02 2IZHBYAIHE A 8,890 9,000 AT110
OAt2I=XIE s 2EA I
8,890,000 8,890
== 1,778
Al 7,112
A ARIZEXTE 15,000 15,000 0




2A:

X XH -
o=

SINESES I}
2EHALRI S A =8

Celr SXAY JI26Ad =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 15,000 15,000
04 CIZHHAMAIRH 2 & 15,000 15,000
OF=FAl At2I=XIt = 15,000,000 15,000
AN SXEG SR Self-care HEHotu=x 19,000 14,400 4,600
201 er2 3| 19,000 14,400 4,600
01 AtR2te|HI 19,000 14,400 4,600
OMNISXNHGESFE self-care LS W=
100,000 *95& 23] 19,000
Mol & XIZAAS 94,000 96,500 2,500
< 94,000
301 EtE2 NS 94,000 96,000 /2,000
=S 94,000
03 AL 2 EH 263 (XL E) 94,000 0 94,000
0= WHULHY =7
55,000,000& 55,000
= 55,000
O®tu} TIoHOL0HE =X
39,000,000& 39,000
= 39,000
NS AR AMEIA S XFALS 4,114,442 3,961,842 152,600
s 2,880,110
s 617,166
Al 617,166
201 2= 37,000 36,019 981
[ 25,900
= 5,550
Al 5,550
01 AtR2te|HI 33,000 32,019 981
OXHAIRIMHI A ST E2 & AIRE
7Y 33,000,000& 33,000
[ 23,100
= 4,950
Al 4,950
02 s3=gHl 4,000 4,000 0
OXIS At MEIA ETHAIY B RS
4,000,000 4,000
= 2,800
= 600
Al 600
202 04| 3,600 3,600 0
= 2,520
= 540
Al 540
01 2L AL 3,600 3,600 0
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2A:

X XH -
o=

SINESES I}
2EHALRI S A =8

Celr SXAY JI26Ad =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMBI12 AEfEZ Ol 800,000 800
= 560
=S 120
Al 120
308 XXM SOIA 222,900 226,568 A3,668
= 186,030
=S 33,435
Al 33,435
1 SISt AS A 222,900 226,568 13,668
OHENISAHLXZAMY HM2HIE HE2
222,900,000 222,900
= 156,030
= 33,435
Al 33,435
XEE SAIE LdHord I ZX K& 6,000 0 6,000
201 2= 6,000 6,000
01 AtR2t2lt] 6.000 6.000
OXEE =XXY dHrd I 43 X
& 6.,000,000& 6,000
SXAIE D18t xS 13,767,469 12,032,188 1,735,281
= 949,848
Al 12,817,621
ARISRIAIE 2EXIE 9,000 9,000
203 HR=AY] 9,000 9,000
03 A=A PR FZ| 9,000 9,000
OAtz|=X NG 9,000,000& 9,000
MNEISXAE SAHL Eed=E XA 1,499,400 1,486,800 12,600
307 212+01& 1,499,400 1,486,800 12,600
11 AMEISXAEEES 1,499,400 1,486,800 12,600
OAMZBIZXIAIES AR HRME ==
70,0002 %1, 785 * 122 1,499,400
AR SKIAIE SALA UR+E XI& 3,166,158 3,086,400 79,758
= 949,848
Al 2,216,310
307 gl2to| & 3,166,158 3,086,400 79,758
=S 949,848
Al 2,216,310
11 ARRIS XA E X 3,166,158 3,086,400 79,758
OAISXIAIESALL e
3,166, 158,000 3,166,158
< 949,848
Al 2,216,310
AMEISTIAE ABISRY X2 (HEAIY) 9,092,911 7,449,988 1,642,923




S SXFBD

M ABAISI =X =&
&l: SXAE DIty (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)

301 LEtEXZ 9,092,911 7,449,988 1,642,923
10 AISISRRJE A2 9,092,911 7,449,988 1,642,923
OAMIZXAIE AISIERRR 22

800,000 & *x750H * 12& 7,200,000
OAMIISXAIE AIZIERRRF SAHI
7,000& *750H %234 1,228,500
OAIZIEXIAIE AIZI2R223 nEH|
3,000& *750H 234 526,500
OAMIZXAIE AIZIERLR 12|
330, 720 x417H 137,911
=)} E& 22l & X 9,986,606 10,288, 104 301,498
= 1,659,120
Al 8,327,486
S22 e & SHXA 9,840,486 9,218,108 622,378
& 1,659, 120
Al 8,181,366
BEOA 29 L 22X 8,094,136 7,292,358 801,778

301 LEtEA 2 7,024,800 6,576,000 448,800
03 AISI 2 & A 26 2 (XL THE) 7,024,800 0 7,024,800
OENMRSA Hil=E & ARZES 4,852,800

OFHHM =
130,000& 2,680 x 128 4,180,800
OREzYN=< 100,000 485 x 122 582,000
OARz2 300,000 x25H x 128 90,000
OSsE K2 B2
100,000 x80& x 128 96,000
O=ZIIBEEUAXN BEE0HRLE
50,000& *3,460 » 12& 2,076,000

307 21Z2t0| ™ 715,826 668,538 47,288
02 QIZFBAMAIIE X 497,564 458,020 39,544
ONYN U B BX AZA

13, 150,000 & *23| 26,300
oOHM0IZE =SX3 2 0I2X 24! NJAAE
108,040,000& 108,040
OM0IZH EX3Z A& 0|2 XISAIE
10,000, 000& 10,000
0s=2E=21Y J|IEAY
159,324,000 159,324
ORAA =ZTHIIES At
4,200,000& 4,200
OAIBl OFE DF AINE AL
5,000,000& 5,000
ONEZEFE3 HFAXS AIH
20, 100,000& 20,100
OREx=X3 HFAIXE A
18,900,000& 18,900




S SXEBD

Hy: 20} P& 2 L N
SEEE S R ERRE L (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLNHMNER2 HFAIXE At
18,200,000& 18,200
Od==Z0I1Yls HFAIX2l AHE
20,100,000& 20,100
Od0IZ2da EFAIXZ A
21,900,000 21,900
OZgHTELE HFAIXNZ A
20,100,000& 20,100
06 - BEHER IR HFAIXE At
20,100,000 20,100
OS4+ASLENE HFAIXS ALY
17,300,000 17,300
OZ=3 FFAXZ A
11,500,000 11,500
OFFAl MezZelel Al
16,500,000& 16,500
03 M EE2SHI X 218,262 210,518 7,744
OXEZERER FFANZ 2
19,173,000& 19,173
ORE=2ital EFANE 28
20,873,000& 20,873
OLNHMER HFAIXE 24
24,645,000 24,645
OXMSZZ0ILLIS HFAIXE 2
19,173,000& 19,173
od0IzZda FAAz 29
19,173,000& 19,173
ozagidaEdtal AKX 29
22,645,000 22,645
06 - BEHERE X2 EFAX 29
22,645,000 22,645
OS4ALLBNE HEANE 29
24,645,000& 24,645
OZ=3 FFAXZ 24
22,645,000 22,645
OEFA WEZols 2
22,645,000 22,645
402 QIF X201 & 363,510 47,820 305,690
01 QI X2 AL E A (KEHITHE) 353,510 47,820 305,690
OFEFAl 2232 JIs22
317,200,000 317,200
OSBLENE AKF AX L 01 7Y
30,000,000 30,000
OSE+=dRFSXal HFAIXE & 6,310
ogeE =8| 3,630,000& 3,630
OdQIEY & oA 2,680,000& 2,680
SERSA =8 N 66,600 66,000 600
== 13,320




2A: SXEA
My 20} P& 22 Y N
Sl SN M L S (Shol: % 2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 53,280
301 LPBNF 66,600 66,000 600
T 13,320
Al 53,280
03 A B &H 252 (XY M) 66,600 0 66,600
O=8gxs3X 2 Zdl XA
66,600,000 66,600
= 13,320
Al 53,280
HEFIA Fol=E KA 1,645,800 1,825,800 180,000
& 1,645,800
301 LetEHZ 1,645,800 1,825,800 180,000
= 1,645,800
03 A B EHGS (XY M) 1,645,800 0 1,645,800
OFNMRIX FHoll= X2
50,0003 *2,743H x 12& 1,645,800
T 1,645,800
e olol & A} 14,550 14,550
307 212+01™ 14,550 14,550
04 QIZHSHAAIZ B X 14,550 14,550
OMe=olold J|EeHAL 14,550,000& 14,550
B2ItE St0tS StEta At 19,400 19,400
307 QIZt01 A 19,400 19,400
04 QIZIHAIAIE B X 19,400 19,400
OS2 EJtE &tit2 St At
19,400,000 19,400
SN2 L SSA K2 146,120 1,069,996 AN923,876
SEAldae| L SEEA X2 61,451 89,2% A27,845
101 2124 d| 10,531 9,483 1,048
M I1RIMZ2Z2XsEs 10,531 9,483 1,048
OFEE (AR 22 10,531
O=: 72,150& 1B+ 90U« 12F 7,793
OFAAxt==g 28,860 1H+ 6«12 2,078
O4U2E 660
-H2EE 9,870,000 *3.495% 345
AP E 345,000& *12.27% 43
-IEEE 9,870,000& *1.75% 173
—ATHEE 9,870,000& *1% N
201 L2 AH| 24,120 21,513 2,607
01 AtR2telt] 11,600 10,593 1,007
Ot st&t 200,000 *53] x4 4 2~ 4,000
CEELE YT L
100,000 10X 1,000




AR INESESI
My 20 9E 22 Y A
Chol: BEALRR Y BRHAL X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oz2g zdl 2 &t 85 2
150,000& %123 1,800
Os=E =)l UAbS
40,0002 %157 +53] 3,000
OEEY HHAUBE T
50,0002 *x35+123] 1,800
02 S5=g4l 1,920 1,920 0
Os=Ead4e &) € dot=Rs, 3t
B E = 160,000& * 12 1,920
03 &A=& 10,600 9,000 1,600
O=Z28Al 23 10,600
Oslsd =84 4l &xt
5,000,000 5,000
Osdte 80,000& * 107K 800
OS0I12XHH2) 5003 *1,8007K 900
OxzHE=E) 150, 0003 *4H 600
OdzHHHE) 3,000 %500 01 1,500
Ox=&T & 22 R
1,800 x2Z5 5005 1,800
301 EtE N = 1,800 33,300 /31,500
11 #AIMHIXIE S 1,800 33,300 231,500
OEL A HIHAF 24
300,000 *6IH - &I 1,800
401 Al HIZ R 0HbI 25,000 25,000
01 Al&HI 25,000 25,000
Os&g 2 JHI(XZF) 10,000,000 10,000
O SANE KFA(2=)2el
15,000,000& 15,000
SEE =222 24 3,969 900,000 /896,031
401 AIEHIX S0 3,969 900,000 /896,031
03 AIZSTHYI 3,969 0 3,969
O=SE =233 2AY
3,969,000 3,969
6-25 JIS&HA 29,100 29,100 0
307 212+01& 29,100 29,100
04 QIZHHAIAIH E X 29,100 29,100
©6 - 25 IS A} 29,100,000 29,100
stS&d BN 6,000 6,000 0
307 elztol & 6,000 6,000
04 CIZHHAMAMH 2 & 6,000 6,000
Ot SRR 6,000,000 12 6,000
=Ealdd BN 6,000 6,000
307 @20l & 6,000 6,000
04 QIZHHAMAIH 2 £ 6,000 6,000
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A =SXEMD
M [0S HAS)
=Rl NASSE Jlgtxy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 229,826
=S 9,678,363
Al 14,844,899
NASS JlgtEd 120, 149,657 96,609, 108 23,540,549
= 99,414,110
= 229,826
< 7,345,481
Al 13,160,240
Agdy 23 811,208 756,820 54,388
= 567,846
Al 243,362
307 elzto| & 811,208 756,820 54,388
= 567,846
Al 243,362
10 AlISXAAEEHE 22X 811,208 756,820 54,388
OFFXAXEHH 2SHI(EEE)
425,884,000 425,884
= 298,119
Al 127,765
OFJAXNAXEUE 2SHI(HEE)
385,324,000 385,324
= 269,727
Al 115,597
AEAY 2dat FAA 40,000 42,000 22,000
=S 16,000
Al 24,000
307 21201 & 40,000 42,000 /2,000
< 16,000
Al 24,000
02 LB HANHEE 40,000 42,000 22,000
OHZENATEHE NEAY B3 ZRA
A(HEEH) 20,000,000 20,000
= 8,000
Al 12,000
OFZXNSAA2HEH NHEAIY 2dst FAA
H(HEE) 20,000,000& 20,000
s 8,000
Al 12,000
A2 2 A 5,568,482 4,675,908 892,574
= 5,011,634
s 167,054
Al 389,794
301 EtE NS 400,000 430,000 30,000
= 360,000




A SAE M
Hm: 20| EME Ljas
=Rl NASSE Jlgtxy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,000
Al 28,000
01 A2 HSHS(RNEERTH) 400,000 430,000 30,000
OXrZ 2 AIAHI(40 78)
400,000,000& 400,000
= 360,000
< 12,000
Al 28,000
307 elztol & 5,168,482 4,245,908 922,574
= 4,651,634
[ 185,054
Al 361,794
05 2ItRIE =2 5,168,482 4,245,908 922,574
ONEZZ AL DItglEt
5,168,482,000& 5,168,482
= 4,651,634
& 185,054
Al 361,794
RIS S =R A 297,614 383,711 A\86,097
= 208,330
< 44,642
Al 44,642
308 XXM SOIA 297,614 383,711 86,097
= 208,330
=S 44,642
Al 44,642
11 S| 2S0 U B 4HASAIE 297,614 383,711 A\86,097
QItARZYE &2 XIE A
297,614,000 297,614
= 208,330
= 44,642
Al 44,642
220l I=RES 8,653,572 7,961,332 692,240
308 AHXIHMSO0IA 8,653,572 7,961,332 692,240
07 X2 EE2 8,603,572 7,961,332 692,240
O2za0Ila ABIRE=
8,653,572,000& 8,653,572
MASE I Bex, LAIIQAEHE XJ 234,000 234,000 0
301 EtE N = 234,000 234,000 0
02 A2 X LGS (FHAAHS, NLWE) 234,000 0 234,000
OMASE 2VAALHE U LOIFIIQY
28= 234,000,000 234,000
A= 99,688,620 79,842,753 19,845,867
=

89,719,758




S SXEBD
Hu: =O|EME Ljalst
J

el ;zéé IEEFEZ (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,978,203
Al 2,990,659
301 EtE NS 99,688,620 79,842,753 19,845,867
= 89,719,758
== 6,978,203
Al 2,990,659
01 AR 2EHSHS(RNEXRTH) 99,688,620 79,842,753 19,845,867
OdA=N 99,688,620,000& 99,688,620
= 89,719,758
=S 6,978,203
Al 2,990,659
[ FSESPN =10 676,449 582,473 93,976
= 608,804
=S 20,293
Al 47,352
301 EetE2 NS 676,449 582,473 93,976
= 608,804
= 20,293
Al 47,352
01 Al EE A S (2 RDEXA) 676,449 582,473 93,976
(O PR PN =10 676,449,000 676,449
= 608,804
= 20,293
Al 47,352
ME=g={0; 222,272 188,070 34,202
308 AHAIEMSOIE 222,272 188,070 34,202
08 WEJI20UStEx 222,272 188,070 34,202
(©FNE=y=10] 222,271,350 222,272
MNIIEHEBAIAH &2 19,000 15,100 3,900
201 =3 19,000 15,100 3,900
01 AtR2t2lt] 1,900 1,900 0
OI | ZUSEHAHU IS MH
100&1%19,000% 1,900
2 s5=34l 17,100 13,200 3,900
Od=e-5 e8! LEAIAE 018
5702 %2,5008 x 123 17,100
A elstel =aIXA 12,100 16,400 24,300
== 2,420
Al 9,680
301 2= 12,100 16,400 4,300
S 2,420
Al 9,680
02 MBI 2HHSFHS(HAANS, XLHE) 12,100 0 12,100




A =SXEMD
M [0S HAS)
=Rl NASSE Jlgtxy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oAl 1,250,000 x2H 2,500
= 500
Al 2,000
og3=(&=) 800,000&* 12 9,600
=S 1,920
Al 7,680
22580 A= =i €=8SX2(3YISSE | ) 49,575 128,648 ~79,073
= 44,618
=S 1,487
Al 3,470
307 @I2to| & 49,575 128,648 AT79,073
= 44,618
= 1,487
Al 3,470
11 AMEISXAIEEXS 49,575 128,648 AT79,073
O3 BII=SH | At 49,575,000 49,575
= 44,618
= 1,487
Al 3.470
)E’i%EOI AE =22 25 N (ZLIISSE 70,325 183,328 A113,003
= 63,292
= 2,110
Al 4,923
307 el2to| & 70,325 183,328 A113,003
= 63,292
== 2,110
Al 4,923
11 AMEISXAEEES 70,325 183,328 A113,003
O3 BII=SHE I AL 70,325,000& 70,325
= 63,292
[ 2,110
Al 4,923
22530l A= ==X 52 NA(HHLIISS 73,919 92,753 18,834
5)
= 66,527
< 2,218
Al 5,174
307 glztol & 73,919 92,753 18,834
= 66,527
== 2,218
Al 5,174
11 AMRISXAEEES 73,919 92,753 18,834




A SAE M
Hm: 20| EME Ljas
=Rl NASSE Jlgtxy EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
OFH I I SSHAL 73,919,000 73,919
= 66,527
== 2,218
Al 5,174
2250l Y= =202 g3 (HLIISSH) 17,328 42,019 N24,691
= 15,595
== 520
Al 1,213
307 212+01& 17,328 42,019 A\24,691
= 15,595
= 520
Al 1,213
11 AMISXAIEEX 17,328 42,019 A24,691
O ISSEAML 17,328,000 17,328
= 15,595
= 520
Al 1,213
ZESE0| A= =3 =X (BENSAHR) 249,272 750,148 A500,876
= 224,345
= 7,478
Al 17,449
307 gl2to| & 249,272 750,148 500,876
= 224,345
= 7,478
Al 17,449
11 MEISXAEE 249,272 750,148 500,876
OFEM=H 249,272,000& 249,272
= 224,345
== 7,478
Al 17,449
22590 A= +2X2 SN2 (BLH=AHE 1) 182,637 116,631 66,006
= 164,373
== 5,479
Al 12,785
307 elztol & 182,637 116,631 66,006
= 164,373
== 5,479
Al 12,785
11 AMRISXAEEES 182,637 116,631 66,006
022530l A= =23k €3 XA(3
YMEAZ ) 182,637,000 182,637
= 164,373
s 5,479




A SAE M
B 200|248 Uas
=Rl NASSE Jlgtxy EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
| Al 12,785
D20l UE SN2 FHINLELRIA | 190,019 63,545 126,474
= 171,017
= 5,701
Al 13,301
307 @120l & 190,019 63,545 126,474
= 171,017
= 5,701
Al 13,301
11 AMEISXAEEXS 190,019 63,545 126,474
O022520| U 2N LSXA (8]
YMEAHZHI) 190,019,000 190,019
= 171,017
= 5,701
Al 13,301
22s20] U= 43X 242 NR(FEULHE 381,777 70,270 311,507
FH(Rtate! Ol FEU4))
= 343,600
= 11,453
Al 26,724
307 el2to| & 381,777 70,270 311,507
= 343,600
= 11,453
Al 26,724
11 AMEISXAEEE 381,777 70,270 311,507
0Z2530| A= == €42 XA(F
UL M S HIB (XA 0I5 HEDHA))
381,777,000& 381,777
= 343,600
< 11,453
Al 26,724
22520| Js =2X2 25 N (HFAUHL S 2,680,779 463,199 2,217,580
FH(Rtatel =0 FEU4Y))
= 2,412,701
== 80,423
Al 187,655
307 elztol & 2,680,779 463,19 2,217,580
= 2,412,701
[ 80,423
Al 187,655
11 AMEISXAEEES 2,680,779 463,19 2,217,580
022530| A= == =2 XA(E
EUHLXMSHIH IS =0 E0Y)
2,680,779,000& 2,680,779




S =XEM
M 20| ZME LHAS
el NASE Jlgtxd EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 2,412,701
T 80,423
Al 187,655
=N T E 30,709 0 30,709
iy 21,4%
Al 9,213
307 2I2+01A 30,709 0 30,709
= 21,49
Al 9,213
10 Al =S XA EEER2IHIE X 30,709 0 30,709
OX2tAtell2e| At e14d] XI&A
30,709,000& 30,709
= 21,496
Al 9,213
NASE FHHHE 33,677,341 27,272,109 6,405,232
= 29,659,800
& 2,332,882
Al 1,684,659
FN= 32,908,889 27,044,789 5,864,100
= 29,618,000
& 2,303,622
Al 987,267
301 LPENZ 30,708,889 24,931,985 5,776,904
= 27,638,000
T 2,149,622
Al 921,267
01 Al BEX2HZ2(2REETA) 30,708,889 24,931,985 5,776,904
oex=0 30,708,839,000& 30,708,889
= 27,638,000
= 2,149,622
Al 921,267
403 XtXISHMSKHE0IA 2,200,000 2,112,804 87,19
= 1,980,000
= 154,000
Al 66,000
02 SI| A SO CHSt A2 X RIEAIS I 2,200,000 2,112,804 87,1%
(OEaEINI={0:! 2,200,000,000& 2,200,000
= 1,980,000
& 154,000
Al 66,000
ZOHQ! FEOHZALS 83,600 57,000 26,600
= 41,800
T 29,260




A SAE M
33 =D|=d4E Uast
el MASS FHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,540
402 2IZtA=01d 83,600 57,000 26,600
= 41,800
= 29,260
Al 12,540
03 2IZ+RAETAIS I 83,600 0 83,600
OF 0l F=EIHEALS 83,600,000& 83,600
= 41,800
& 29,260
Al 12,540
ASNEFE F=HXE A 29,080 30,720 21,640
201 er2 3| 25,080 24,720 360
01 Al 22| 25,080 24,720 360
oxzE UgsieA LUz
2,090,000~ 122 25,080
406 JIEFAHZ01E 4,000 6,000 /2,000
01 JIEtAH=201A 4,000 6,000 22,000
OHZE (YsieA LU2E2
2,000,000 x2= 4,000
FHENHE 2¢ 612,622 139,600 473,022
307 elztol & 329,622 139,600 190,022
05 212t S 329,622 139,600 190,022
OFH=AHE 28| 329,622,000 329,622
401 AlZHIZ S OHbI 283,000 283,000
01 A28l 283,000 283,000
FHSXHE cl2E8E SAt
283,000,000 283,000
ZN0| SAH 29 8.210 0 8,210
201 2egh=3| 8,210 8.210
01 At22t2lt] 8,210 8,210
Olf=Z M= 44,0002 x1002 13 4,400
OHFIH M= 100, 000& *6 1 *23] 1,200
O+ M 70,0002 *1JH*32] 210
OX=2Jt 3|9 HA=H
100,000 8 x33] 2,400
StHTIoHOtS F=HIOHE RIZ 30,000 0 30,000
301 EtE NS 30,000 30,000
03 ALl 2 & A 263 (XL E) 30,000 30,000
Ostiiuloiots F=HME X2
3,000,000 * 10 30,000
FHEX MBIA Zat 4,940 4,940
201 fet= 3| 4,940 4,940
01 AtR2te|H] 4,940 4,940




2A:

mu: ZeD|zMg U
el MASS FHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAE A 20K M
32,0002 *1005+12] 3,200
O+ M 70,0002 *1JH*23] 140
OXN=XSE S
100,000 8 »23] 1,600
Ne==gle) SXsd 14,678,120 14,088,202 589,918
= 3,812,557
= 312,018
s 2,145,451
Al 8,408,094
SXMHEE 29 1,374,950 1,254,800 120,150
SN 29 1,374,950 1,254,800 120,150
207 AR 9,950 9,800 150
01 H7ESHI 9,950 9,800 150
OFF=AME FEEL 9,950,000& 9,950
306 £= 1,365,000 1,245,000 120,000
01 9= 1,365,000 1,245,000 120,000
OFF==INd 29 1,365,000,000& 1,365,000
=Xt 1,824,384 1,162,465 661,919
= 220,651
= 1,277,455
Al 326,278
A=A ESAIE 260,082 236,198 23,884
307 elzto| & 260,082 236,198 23,884
10 Al SXAAEEHE 22X 260,082 236,198 23,884
OstitSaXAELE 23
260,082,000 260,082
C=0AE 2SN (HEAY) 1,123,000 926,267 196,733
== 1,123,000
307 elztol & 1,123,000 926,267 196,733
= 1,123,000
10 Al2ISTIAIEEE 22X 1,123,000 926,267 196,733
oded 29 1,123,000,000& 1,123,000
S 1,123,000
C=0IM4E JIsSEZ(EX) 441,302 0 441,302
= 220,651
= 154,455
Al 66,196
402 2I2FX=01 & 441,302 0 441,302
= 220,651
= 154,455
Al 66,196
02 QI A2 AL E R (0IHTHE) 441,302 0 441,302
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A SR
M xAF0lo =2XEZ
o NASE 4208 &2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 827,399 883,592 AN56,193
01 Al&H| 821,945 878,060 ~56,115
OSRESEASA2 JIsE2Z3A
118,560,000 118,560
OLEZSAESN 2 JIs2ESA
516,876,000 516,876
OBYTBABIZXZ JISBABA
186,509,000 186,509
03 Al 2 0HHI 5,4%4 5,532 AT8
SSEZSAS=IR JISEYTA AILS
tHol 854,000 84
OESEA=A2 JISELSAM AER
CHl 3,257,002 3,257
OBYTHASIZXZ JISBABA AL
thyl 1,343,000& 1,343
28 =X X2 3,557,982 2,854,170 703,812
— 2,846,386
< 365,798
Al 365,798
307 elztol & 3,557,982 2,854,170 703,812
= 2,846,386
== 365,798
Al 365,798
01 222 FZH] 3,557,982 2,854,170 703,812
O2E=AXE Ar 3,557,982,000& 3,557,982
= 2,846,386
=S 365,798
Al 365,798
B! FEE SHS AN AF 7,930 15,370 NT,440
201 223 7,930 15,370 AT,440
01 At22telt] 7,930 9,370 21,440
O=Xo(S)E s H0lE=s MA
6,930,000 6,930
O3 JI& FSA ZAHH
100,000 = 10H 1,000
Ik Atell2tel 29,400 29,400 0
[ 14,700
= 2,940
Al 11,760
201 er23y| 14,700 12,700 2,000
[ 7,350
= 1,470
Al 5,880
01 At2teltl 14,700 12,700 2,000
OAtdl2el 82 8,700




A SXNEH
M xAF0lo =2XEZ
CI9l: HASE MEOE £ (cie) 29
S - ZE - BR(E) - ARANY - BES ofl &t e DS
O3zl Yztet 50,0003 #2404 1,200
= 600
== 120
Al 480
Ozlektz 5,000 *300% 1,500
= 750
== 150
Al 600
os=2s MH 1,500 *4,000% 6,000
= 3,000
== 600
Al 2,400
OSEATRIAN DEERY|
400,000 15H 6,000
= 3,000
S 600
Al 2,400
301 LENZ 14,700 16,700 22,000
= 7,350
== 1,470
Al 5,880
01 AR 2EHSHS(RNEXRTH) 14,700 14,700 0
ORIIt7 Agxzd s
14,700,000 14,700
= 7,350
== 1,470
Al 5,880
SHS Atddl2tel X 424,740 361,200 63,540
s 297,318
== 12,742
Al 114,680
201 2= 212,384 179,103 33,281
= 148,669
= 6,372
Al 57,343
01 AtR2te|H] 186,584 168,463 28,121
OSHs Atdl2tel 2EH|
186,584,000 186,584
[ 130,609
= 5,598
Al 50,377
02 S3=2g4l 25,800 20,640 5,160
OOt 2H=X HE SEZ AIER
50,0003 4304 2=* 123 25,800
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2A: SXEM
Ho: HESAAY| (=X )
el QIEE2E (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 518,668
DIMOLY FX(=1) 508,140 507,156 984
= 254,070
& 76,221
Al 177,849
101 2124 d| 508, 140 507,156 984
= 254,070
= 76,221
Al 177,849
03 BRE(PINHS) 222 508,140 507,156 984
OSEAtell 22 A XI& (15 508, 140
O=H 426,243,000 426,243
s 213,122
= 63,936
Al 149,185
o2sY 20,127,000 20,127
= 10,063
= 3,020
Al 7,044
O=tl 23,000,000 23,000
= 11,500
= 3,450
Al 8,050
(OFSe-E= 7,000,000& 7,000
= 3,500
= 1,050
Al 2,450
o= 11,000,000& 11,000
= 5,500
= 1,650
Al 3,850
o= 4,000,000& 4,000
= 2,000
= 600
Al 1,400
ouststI xS 2,500,000& 2,500
= 1,250
= 375
Al 875
Oo4tiEE = 6,270,000& 6,270
= 3,135
T 940
Al 2,19




SH: =NEMY
M HYRAZH(SXFHL)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS2 4| 8,000,000& 8,000
= 4,000
== 1,200
Al 2,800
el 24| 202,112 226,577 N24,465
101 @124H| 202,112 226,577 N24,465
02 JIEtME = 2,19 2,133 66
OAIZMERIZIIN =2 fag
9, 16031 *20Al 2+ 123 2,19
03 SRA(RIH )22 E S 199,913 224,444 A\24,531
OSEAtHIZCIA X1 (158) 110,853
OEE=IH| 42,174,000 42,174
Ox=22=¢ 68,678,640 68,679
OLeEFH 89,060
oJlzs 61,576
-Ls 1623 2,824,800 «1& 128 33,899
U= 728 2,306,350« 1& 12 27,677
O=2&+¢ 3,080
-Lig 1623 141,240« 1+ 122 1,695
-Us 72 115,350 x 18+ 122 1,385
OFSEL =Tl 140,000 x2& * 122 3,360
Odel=g 50,0003 x2& » 122 1,200
OS=A2=g 50,0008 x2& * 12 1,200
OIEse 40,0003 <2 *12& 960
Og&E=Itd| 5,132
-Lig 1623 1,412,450« 18 23] 2,825
U= 728 1,153, 1802 x1E 23] 2,307
Oz=22=¢ 8,689
-Lig 1623
19,7802 x 1 *20A1 2t 122 4,748
-Us 728
16,4202 x 1 +20A1 2t 122 3,941
OuJt2 &l 3,863
-Lig 1623 105,520 x 18 »20 2,11
-Us 72 87,6003 »1&8»20 1,752
& FIHBOIM =2& K& 7,200 0 7,200
= 3,600
=S 1,080
Al 2,520
101 21AH| 7,200 0 7,200
[ 3,600
= 1,080
Al 2,520




A SXNEH
Ho: HESAAY| (=X )
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 SR (RINAHA) 222+ 7,200 0 7,200
OFY AHUIOIK %S (33)
200,000 «3H*12& 7,200
= 3,600
< 1,080
Al 2,520
2220 444,566 444,566
= 262,449
[ 45,930
Al 136,187
101 @124H| 399,883 399,883
s 255,350
== 44,685
Al 99,848
03 SRA(R I2E2XES 399,883 399,883
oLAzs=H 399,883
OdlEsU=) 279,744
-18& Xt 2,920, 790« 1H* 123 35,050
= 28,040
< 4,907
Al 2,103
-15&@ Xt 2,776,880« 1H+ 122 33,323
= 26,658
< 4,665
Al 2,000
-13&@ Xt 2,680,810& «1H*12& 32,170
= 25,736
< 4,504
Al 1,930
—-12@xt 2,632,830 x2H* 122 63,188
= 50,550
[ 8,846
Al 3,792
-1Ext 2,584,870« 1H« 122 31,019
= 24,815
[ 4,343
Al 1,861
A=PN; 2,392,970 2H 1228 57,432
= 45,946
< 8,040
Al 3,446
-5 Xt 2,296,800 < 1H* 122 27,562
= 22,050




2A: SXEA
Ho: HESAAY| (=X )
chol: ol (c @
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 3,859
Al 1,653
ox&ssY 120,139
—HUZ A 140,0002 9% * 122 15,120
g 50,0003 x99 =123 5,400
Sy 50,0002 x99+ 12& 5,400
-tEg 40,0002 x99« 12& 4,320
-EN2e4E 39,444
18 Xt 20,4003 * 1B +20A 2++ 122 4,8%
= 3,917
& 685
Al 294
- 15EXt 19,4703 *1H+20A| 2t 123 4,673
= 3,738
& 654
Al 281
- 13EXt 18,850 * 1H+20A| 2t 123 4,524
= 3,619
& 633
Al 272
- 128Xt 18, A0 +2H+20A| 2t 123 8,900
= 7,120
& 1,246
Al 534
1A Xt 18, 220&*1H+20Al 2t 123 4,373
= 3,498
& 612
Al 263
VASA; 16, 980 *2H*20A| 2t 123 8,151
= 6,521
& 1,141
Al 489
54Xt 16, 360 *1H*20Al 2t 123 3,927
= 3,142
& 550
Al 235
2= 13,991
18 Xt 146,030 x1F + 122 1,753
154 Xt 138,8402x1H + 122 1,667
133 Xt 134,0402x1Hx 128 1,609
123Xt 131,640 2+ 122 3,160
1A Xt 129,240 1B+ 122 1,551
VA=DN; 119,640 2+ 12 2,872




SN ST
M HYRAZH(SXFHL)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- SE Xt 114,840« 1 » 122 1,379
-SE S0l 23,313
- 18E Xt 1,460,300 x1E 22 2,921
- 159 Xt 1,388,440 x1E 22 2,777
- 138 Xt 1,340,4002 x1E 23] 2,681
- 128Xt 1,316,410& x2H 23 5,266
=Py 1,292,4303 x 1822 2,585
=r 1,196,480 x2& 22 4,786
5E Xt 1,148,400« 18 +23] 2,297
-2 = 13,151
18X} 108,800 x1&» 15 1,632
- 5= Xt 103,840« 1 »15& 1,558
ISISDN; 100,560& x 12 * 15 1,509
- 128Xt 98,8803 2 x15& 2,967
& Xt 97,2003 x 1 » 15 1,458
7TAXt 90,5603 x2& 15 2,717
S5t 87,2803 x1&8 %152 1,310
WM HsEE=S 44,683 0 44,683
= 7,09
= 1,245
Al 36,339
M BRA(RIAHL) 22N BEERE=s S 44,683 0 44,683
O4EE JI2ARY= 44,683
O=d= B5= 399,883,000 4. 5% 17,995
= 7,09
=S 1,245
Al 9,651
O=tHZEsE BE=
399,883,000 +3.495% 13,976
OFIIRLEE=E BRE=
13,976,000& %12.27% 1,715
O1E28s f8=
399,883,000 *1.75% 6,998
O4tlHEe 399,883,000 * 1% 3,99
Jl=3H| 75,568 62,412 13,156
JI=23H] 75,568 62,412 13,156
201 er23| 32,968 29,172 3.7%
01 At2teltl 32,968 29,172 3,79%
QJ1=2dR =HS3H(0IE3HI)
500,000 26 13,000
OSEHI(OI=3H)
8,000 x26H 82 12 19,968
202 04| 31,200 21,840 9,360
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LI NETS!
L= Dt Es EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Cel=X 403,962,913 361,259,752 42,703,161
= 256,989,475
[ 5,061,473
= 27,793,330
Al 114,128,635
=N 403,925,361 361,224,244 42,701,117
= 256,989,475
[ 5,061,473
= 27,793,330
Al 114,091,083
LIS Jlgtxy 401,510,361 369,983,972 41,526,389
= 256,804,895
= 5,061,473
= 27,614,124
Al 112,039,869
celEX gt 8,500 8,500 0
201 fer= 3| 7,000 7,000
01 At 2|l 7,000 7,000
O QISAL BZI M
100,000 +70 7,000
203 HR=&H] 1,500 1,500
03 A=A R =NH] 1,500 1,500
oLege =& 1,500,000& 1,500
dedeg dge48 XA 148,028 138,928 9,100
= 29,607
Al 118,421
307 @I2t01 & 148,028 138,928 9,100
s 29,607
Al 118,421
11 ARRIS XA E X 148,028 138,928 9,100
oY 23z 22l JAX
37,007,000 2«24 2 148,028
< 29,607
Al 118,421
ded g 2,716,755 1,958,560 758,1%
307 el2tol & 2,540,040 1,684,800 855,240
1 AMEISXAIEEXS 2,540,040 1,684,800 855,240
OZ2E22HI(1,090 &) 2,540,040
Osl& == 1080lat
140,000 x2204 2% 123 36,960
Ozl&=+ 118~30& 0I5t
180,000 *6327H A * 12 1,365,120
O3l 4= 318~50H0lot
210,0002 #3272+ 122 824,040
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Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ozl 5180/
240,000 * 10974 A x 12 313,920
402 2IZtA=01d 176,715 253,760 ANT7,045
01 QI XHZ AL E (KM THE) 176,715 253,760 AT7,045
O3d=g YAHIOI=E XNE AL
1,155,000 * 15300 2~ 176,715
J2E duted|(2=H28) S N 1,968,816 2,232,128 N263,312
= 984,409
= 295,323
Al 689,084
301 Eet2 NS 301,536 373,670 NT2,134
= 150,769
= 45,230
Al 105,537
01 Al EE AT S (2 RDEEMRA) 301,536 373,670 NT2,134
ozdzged=t] 301,536,000 301,536
= 150,769
= 45,230
Al 105,537
307 gl2to| & 1,667,280 1,858,458 191,178
= 833,640
= 250,093
Al 583,547
11 AMEISXAEEXS 1,667,280 1,858,458 A191,178
oZzddt] 1,667,280,000& 1,667,280
= 833,640
< 250,093
Al 583,547
I2E2HINZ (ME2P=2XE) 76,300 75,600 700
= 11,445
Al 64,855
201 er23| 76,300 75,600 700
= 11,445
Al 64,855
01 At 2|l 76,300 75,600 700
J2Y2HNE (M 2FSENR)
70,0002 %1,0900H 2~ 76,300
[ 11,445
Al 64,855
22 29 X (F2E3E WU=EH XY) 21,582 23,980 2,398
= 4,317
Al 17,265
307 el2to| & 21,582 23,980 N2,398
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Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,317
Al 17,265
11 AMEISXAEEES 21,582 23,980 A2,398
©0F2L5|E DFY XL
99,0003 %218 21,582
= 4,317
Al 17,265
Z2E XIII0IAE 708,000 702,000 6,000
== 212,400
Al 495,600
307 212+01& 708,000 702,000 6,000
== 212,400
Al 495,600
11 AMEISXAEEE 708,000 702,000 6,000
02 XII0IAN(ZRY HAR2IX)
50,0002 *1,00000 2x* 12 654,000
= 196,200
Al 457,800
0Z2Y XII0IANL(SSHS HAB2IT)
100,000 #4504 2% 12& 54,000
< 16,200
Al 37,800
2 0123 Z2AF XA 1,359,655 1,563,237 A193,582
= 407,8%
Al 951,759
307 el2tol & 1,359,655 1,563,237 A193,582
= 407,8%
Al 951,759
1 AMISXAIEEXS 1,359,655 1,563,237 A193,582
OZZ2E OHIIE3t ZAF XIZ AL
1,359,655,000& 1,359,655
== 407,8%
Al 951,759
tist=Qlsl AlXlZl ALR= 22X 100,000 100,000 0
= 12,651
Al 87,349
307 elztol & 100,000 100,000 0
= 12,651
Al 87,349
1 AMEISXAIEEXS 100,000 100,000 0
olet=0ls 2
50,000,000 #2JH 2 100,000
== 12,651
Al 87,349




M LoI=EX 0
Hm: Lol=X|SX
i H A E NP el P (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
COIEH 2EX# 363,612 320,317 43,295
307 212told 309,612 320,317 210,705
11 ARIS XA 2 X 309,612 320,317 A10,705
ot FFAIKz 23 309,612
ONYNRTTIE (2423])
161,151,000& 161,151
Osd&EIARXNE(2123])
148,461,000 148,461
401 Al HIZL 201 54,000 54,000
01 A=l 54,000 54,000
OUst=0ls] HFAIXIS JISELAI(EL
HRXE!) 54,000
O2ol8 U =4 B4 B
54,000,000& 54,000
CRlII=2st KA 40,000 38,000 2,000
307 212t01& 40,000 38,000 2,000
11 ARIZXAIE 2= 40,000 38,000 2,000
LColtiE 2SR (L213])
20,000,000 & %204 2~ 40,000
COIEA ALK 7,200 7,200 0
301 LeEN= 7,200 7,200
11 SEAAHIXIRS 7,200 7,200
O CIAF FIEAL O]
20,0003 30 20 2+62] 7,200
JHEaY ogole DS Al I 15,000 15,000 0
307 212t01& 15,000 15,000
04 QIZFHAIAISE B = 15,000 15,000
OJIE2E U0l JISdAHHl R
15,000,000& %12 15,000
welole JIg At 40,000 40,000
307 212t01™ 40,000 40,000
04 QIZHHAIAIH 2 £ 40,000 40,000
OLeleld JISHA 40,000,000 *12] 40,000
HOIEE U=l 9,700 9,700
307 212+01™ 9,700 9,700
04 CIZHHAAIS E & 9,700 9,700
OJOoIEZE U3 4,850,000 *20H 2 9,700
LeolOet2Ee SEMis 2,650 1,940 710
307 212t01™ 2,650 1,940 710
04 QIZHFHAIAIHE 2 = 2,650 1,940 710
O e2E =g
2,650,000 100 2 2,650
FZ2AY Raga MY 1,137,235 998,980 138,255
307 212+01™ 1,137,235 998,980 138,255




A SISt
M Lol=| =7
Rl ==X Jletxy EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
" AMSI=XAIEEE 1,137,235 998,980 138,255
Od=ZAY R=aA MY 1,137,235
OgErAl 4,500 *890H x253 1,013,265
O== 3,500 x 140 x2532! 123,970
NAS THIHCQIAIAL BHEALS 869,814 767,056 102,758
307 QIZt01 A 869,814 767,056 102,758
11 AL SXAMEE R 869,814 767,056 102,758
OMASMIL QI AAMHE ALY
4, 5003 *764H 253 869,814
ALIKHZ2E 29 2,153,800 1,981,000 172,800
307 212+01™ 2,107,800 1,981,000 126,800
10 Al S XA EEHE2IHIE X 2,107,800 1,981,000 126,800
OANLI2E 29 (6014) 2,107,800
OFHFELUALINZY 29
343,300,000 343,300
OFF=2ZAILINZ2Y 29
334,300,000& 334,300
OF=AMYAILINHEY 29
355,300,000 355,300
OFEFAIANLINEZY 29
367,500,000 367,500
OF=FIAALIHEY 29
369,400,000& 369,400
OFFHIALINZY 2Y
338,000,000& 338,000
401 Al&HIZ 20| 46,000 46,000
01 AlEHI 46,000 46,000
OAlLIZE" JIs2Z 46,000
OHEFELUALINZY Y= L 2IBEE =
At 22,000,000& 22,000
OBZHIALINDZY AHLs U gaz
At 24,000,000 24,000
Lolgxiel 2L (SLE(X=LE)) 22,941,450 25,411,050 A2,469,600
= 11,470,725
& 1,147,073
Al 10,323,652
101 el H| 10,000 13,014 A3,014
= 5,000
T 500
Al 4,500
M IIRINZ2Z2XSEs 10,000 13,014 A3,014
OLQoldXte| Mol (Al - &, 59) 4L
= 250,000 x5 83 10,000
= 5,000
= 500
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N -8 S2A(SIH) - HRAY - B

Ofl &F2H

MEE
Ofl &k2h

4,500

6,800
3,400

340
3,060

6,800

2,400,000

Oelgiiel Md=8 Zell &Y
220,000 »200H

Mo

=

Mo

=

6,800
6,800

2,400
1,200

120
1,080

4,400
2,200

220
1,980

6,800

301 Et2 &=

Mo

=

2,707,950
1,353,975

135,398
1,218,577

3,460,936

AT752,986

11 EAIAHIXIES

8,000 »865H

14 J|Et2 a3
o

OXE old T2 A (&, 865H)
2,701,030,000&

Mo

Mo

=

6,920

6,920
3,460

346

3,114
2,701,030

2,701,030
1,350,515

135,052
1,215,463

8,840

3,452,0%6

21,920

AT751,066

307 212t01™

Mo

=

20,216,700
10,108,350
1,010,835
9,097,515

21,930,300

A1,713,600

20,216,700,000&

Mo

20,216,700

20,216,700
10,108,350
1,010,835
9,097,515

21,930,300

A1,713,600

1,682,100

1,513,890

168,210
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Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 841,050
=S 84,105
Al 756,945
307 @I2to| & 1,682,100 1,513,890 168,210
= 841,050
= 84,105
Al 756,945
1 AMISXAIEEXS 1,682,100 1,513,890 168,210
Lolgxiel 2 (AEE)
1,682, 100,000& 1,682,100
= 841,050
= 84,105
Al 756,945
Colgxel 2d(HYLHE) 23,550 12,000 11,550
= 1,775
= 1,178
Al 10,597
307 el2to| & 23,550 12,000 11,550
= 1,775
== 1,178
Al 10,597
11 AMEISXAEEES 23,550 12,000 11,550
ool 2d(HILHE)
23,550,000& 23,550
= 1,775
< 1,178
Al 10,597
Colgxiel 2d(i2 dgelH) 2,017,890 1,859,481 158,409
= 1,008,941
< 100,899
Al 908,050
101 @124H| 87,143 134,745 A47,602
= 43,572
== 4,357
Al 39,214
M ORNZZ2NSE S 87,143 134,745 N47,602
O LTIXIF (Al - 7& HGel™, 58)
87,143,000 87,143
= 43,572
== 4,357
Al 39,214
307 glztol & 1,930,747 1,724,736 206,011
= 965,369
s 96,542
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Hm: Lol=X|SX
i H A E NP el P (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 868,836
11 AMEISXAEEXS 1,930,747 1,724,736 206,011
ORI J (S| 2HTH | 679)
1,930, 747,000 1,930,747
= 965,369
= 96,542
Al 868,836
olxiel 29 (ASAHIAS) 9,533,062 7,931,001 1,602,061
= 4,766,531
= 476,653
Al 4,289,878
307 el2to| & 9,533,062 7,931,001 1,602,061
= 4,766,531
= 476,653
Al 4,280,878
1 AMEISXAEEXS 9,533,062 7,931,001 1,602,061
Ooolgdxte] 2 (ARIMHIAE)
9,533,062,000& 9,533,062
= 4,766,531
S 476,653
Al 4,280,878
Lolgixtel X (XAl 303,550 384,160 /80,610
= 151,775
Al 161,775
307 @I2t01 & 303,550 384,160 /80,610
s 151,775
Al 151,775
11 ARRIS XA E X 303,550 384,160 /80,610
O QIR AE (= RHAI)
303,550,000 303,550
= 161,775
Al 151,775
JI=A=3 297,136,759 262,961,861 34,174,898
= 237,721,464
< 11,883,059
Al 47,532,236
301 EtE NS 297,136,759 262,961,861 34,174,898
= 237,721,464
== 11,883,059
Al 47,532,236
01 Al 2E AL S (SN2 297,136,759 262,961,861 34,174,898
OJI=¢3 297,136,759,000& 297,136,759
= 237,721,464
=S 11,883,059
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oelr OIS JI8tRy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 440,286
= 88,063
Al 32,232
307 21240 880,561 882,920 £2,3%9
2 440,286
= 88,063
Al 362,232
IEETIEEES 880,561 882,920 £2,3%9
OS0!, B0l STOHOAALIA 2
o 880,581,002 880,581
2 440,286
= 88,063
Al 362,23
ol HSEASS X 25,000 25,200 £200
307 21201 25,000 25,200 £200
11 A =AY EE 25,000 25,200 £200
OO BEAES 5,000, 0008 +50H A 25,000
IIEEC ANES 800 3,780 12,980
307 BI2+0| 800 3,780 12,980
IEEEEEY 800 3,780 £2,980
OJIELO YNRS 800, 0002 800
COIQUAE 2% X 22,424,470 20,812,912 1,611,558
= 11,212,235
Al 11,212,235
01 LerEES 22,424,470 20,812,912 1,611,558
= 1,212,235
Al 11,212,235
03 Al & E 23S ) 22,424,470 0 22,424,470
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< 1,212,235
Al 11,212,235
WIIZ0IAHIAD 12 29 X2 19,101,199 0 19,101,199
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CEEEEE D 19,101,199 19,101,199
OMIISHMEIAIIZ 29 XD
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soI= fIs 2 10,000 10,000 0
201 et | 0,000 10,000
01 AR22IH| 10,000 10,000
O9ies By 10,000
OLQINEEEAHIA AoIIas]
100, 0002 +424113] 4,400
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Rl ==X Jletxy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 239,639
el2Ed SXAE 2SN 3,600 6,000 A2,400
== 1,080
Al 2,520
307 212+01& 3,600 6,000 A2,400
< 1,080
Al 2,520
10 Al2IS XA EEE 22X 3,600 6,000 A2,400
oelzd SXAE 2SR
3,600,000& 3,600
= 1,080
Al 2,520
oISty ollet 22,700 8,000 14,700
201 et 3| 22,700 8,000 14,700
01 AtR2tc|Hl 22,700 8,000 14,700
OLQES BLHEH 23 22,700
Og=H| 50,0002 60 & *42] 12,000
OZ At 350,000 23 700
ORUEYH 2228 79
5,000,000 <22} 10,000
ANE=2E JIgEd 790,000 241,968 548,032
= 184,580
= 179,206
Al 426,214
RS2 Jls2E 104,000 26,793 77,207
401 Al HIZ S OHbI 104,000 15,522 88,478
01 A28l 104,000 15,522 88,478
02| DI BA 50,000, 00024 1CH 50,000
o= 2129y U YLD
54,000,000 54,000
BFANSE=A2 D522 23,000 57,700 A34,700
401 Al HIZ 2018 23,000 57,700 A34,700
01 Al&H| 23,000 57,700 A34,700
O=¥3 Wil SAt 23,000,000 23,000
AFUE=SX2 JIsE2S 198,500 66,690 131,810
s 50,000
Al 148,500
401 AIEHIZ SR OHYI 198,500 66,690 131,810
[ 50,000
Al 148,500
01 Al&HI 198,500 66,690 131,810
odte ZH) wHl 118,500,000 118,500
OAXTAIE E3A 30,000,000& 30,000
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M Lol=XEX
SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o"HuUAZE Al 50,000,000 50,000
= 50,000
NEcelsI2 Js2d 8,000 0 8,000
401 Al HIZL S 0HYI 8,000 8,000
01 Al&HI 8,000 8,000
S L=3AM 8,000,000& 8,000
LEORAANE JIsES 369,160 0 369, 160
= 184,580
< 129,206
Al 55,374
402 QI2F X201 & 369,160 0 369,160
= 184,580
== 129,206
Al 55,374
02 RIINEASEZ(0IETHR) 369,160 0 369,160
OLILAAIE CCTV &X X2
369, 160,000 369, 160
= 184,580
s 129,206
Al 55,374
COISXAIE “=AIE A 87,340 75,000 12,340
201 el 87,340 75,000 12,340
01 At22t2lt] 10,340 0 10,340
O3BAEE A8 10,340
OFFEHEAILINZE
2,530,000& *23] 5,060
OFFAISE=2
2,640,000& *22] 5,280
2 35244l 77,000 75,000 2,000
OSXAIE (e, A AKX
77,000,000 77,000
FRE3 e 1,625,000 998,304 626,696
ZREotget Atet 40,000 0 40,000
207 ARl 40,000 40,000
01 g S| 40,000 40,000
OFAAE NS+ HE 8 9
40,000,000& 40,000
Fag =24 375,000 380,004 ~5,004
307 212+01& 375,000 360,000 15,000
05 2ItRIE = 375,000 360,000 15,000
oMY L& 375,000
O2 At 2124 & 24|
315,000,000 315,000
O R0IAF 14| 60,000,000 60,000
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el EES O (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHIE JIsEY 910,000 318,300 591,700
401 Al HIZL 201 910,000 318,300 591,700
01 Al&HI 910,000 318,300 591,700
OSH3A M2NUAHX T4 SAH4,016m)
770,000,000 770,000
OSEEA =58 NHEX AE2Y SA 140,000
O==g NAEX 2 Edl & i SAt
140,000,000 140,000
8 MietEd =8 NSFUs st FeU=SAIY| 300,000 300,000 0
&
401 AlEHIZ 2018 300,000 300,000
01 Al&H| 300,000 300,000
OlfEtSH FHOIS FLU=JAIHI
300,000,000 300,000
HY2EHHI(=Q/=Rm) 37,552 35,508 2,044
Jl=3H| 37,552 36,508 2,044
Jl=3H] 37,552 36,508 2,044
201 er23| 17,752 15,708 2,044
01 At2teltl 17,752 15,708 2,044
OJl=gR=+=g8asHI(0I1E3H])
500,000 %14 7,000
OSEHI(OI=23H)
8,000« 14«82 x 122 10,752
202 04| 16,800 16,800
01 SLHoIH 16,800 16,800
O=UobI(O1=Z2HI)
20,0003 x 14 +52 122 16,800
203 HR=AH] 3,000 3,000
MU A2 LRFEI 3,000 3,000
OJIEAH(1521015t) 250,000+ 122 3,000




M ZOHI=X 2t

X ZH -
o=

=aak

Al A

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OIS Xt 149,566,351 128,308,093 21,258,258
= 79,401,235
Il 91,172
= 11,174,590
Al 58,899,354
o= & 149,524,899 128,273,407 21,251,492
= 79,401,235
Il 91,172
= 11,174,590
Al 58,857,902
ZUI=X JIBtES 107,254,454 94,052,817 13,201,637
= 62,448,660
Il 91,172
= 8,158,093
Al 36,556,529
ZHOHQI S X BH(REAI) 1,500 1,500 0
203 BR8] 1,500 1,500
03 AIF=AIH 2= 1,500 1,500
OFMU=IXNEF =& 1,500,000 1,500
el s 20,438,812 21,172,000 AT733,188
= 14,307,169
=S 1,839,492
Al 4,292,151
301 22N = 20,438,812 21,172,000 AT733,188
= 14,307,169
= 1,839,492
Al 4,292,151
01 Al EE AT S (2 RDEXA) 20,438,812 21,172,000 AT733,188
OFMASX = 20,438,812,000& 20,438,812
= 14,307,169
= 1,839,492
Al 4,292,151
== (1x) 2,732,148 1,616,916 1,115,232
= 1,912,503
= 573,751
Al 245,894
301 LeENZ 2,732,148 1,616,916 1,115,232
= 1,912,503
= 573,751
Al 245,894
01 Al EEATZ(2REZME) 2,732,148 1,616,916 1,115,232
O Ea={@IES) 2,732,148,000& 2,732,148
= 1,912,503




A HOHQI=XI
M ZOHSK +8
&2l HOHISKI JIgtxd (EEEE))

SA - B BRA(SH) - HRA - of v e HIDE2
< 573,751
Al 245,8%4
1,569,323 1,330,000 239,323
= 1,098,526
< 329,558
Al 141,239
1,569,323 1,330,000 239,323
= 1,098,526
== 329,558
Al 141,239
1,569,323 1,330,000 239,323
1,569,323,000& 1,569,323
= 1,008,526
=S 329,558
Al 141,239
SHAMNMERSE(=D) 19,516 10,134 9,382
= 9,758
S 2,921
Al 6,831
19,516 10,134 9,382
= 9,758
= 2,927
Al 6,831
Gz (22X 19,516 10,134 9,382
19,516
= 9,758
= 2,921
Al 6.831
54,335,641 45,914,129 8,421,512
= 38,034,948
= 3,260,138
Al 13,040,555
XX 54,335,641 45,914,129 8,421,512
= 38,034,948
[ 3,260,138
Al 13,040,555
54,335,641 45,914,129 8,421,512
54,335,641,000& 54,335,641
= 38,034,948
== 3,260,138
Al 13,040,555
SEX JteE0 472,978 285,600 187,378
= 331,084




SN &

X ZH -
o=

chl: (=CR-E))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 28,378
Al 113,516
308 XtXIEMSO0IH 472,978 285,600 187,378
= 331,084
S 28,378
Al 113,516
11 S 2SS & AE AL 472,978 285,600 187,378
OZZBUABSEE IHIZ0!
472,978,000 472,978
= 331,084
S 28,378
Al 113,516
STHHASER FIHEX)XIA(ZHI) 845,638 716,088 129,550
= 230,013
Al 615,625
308 AHXIEMSOIH 845,638 716,088 129,550
= 230,013
Al 615,625
11 S| 2SS XA AIE 845,638 716,088 129,550
OEZTNUBELE FIINI
845,638,000 845,638
S 230,013
Al 615,625
ST SEX 24A12F X (<HI) 363,052 332,105 20,947
= 96,030
Al 257,022
308 AHXIEMSOIH 353,052 332,105 20,947
= 96,030
Al 257,022
11 S| 2SS & AEAIE 363,052 332,105 20,947
OZSSZMAESEXx 24A12H K&
363,052,000 363,052
=S 96,030
Al 257,022
ZOHQISH R 2ItE XA (=HI) 67,262 74,617 AT,355
S 18,295
Al 48,967
308 XtXIEMSOIH 67,262 74,617 AT,355
= 18,295
Al 48,967
11 S 2SS & ASAIE 67,262 74,617 AT,355
OISR 2ItE K& 67,262,000& 67,262
= 18,295
Al 48,967




SA: RfOI=XID
Hm: FojoI=x 7

s ZOHRI=X Jlgtxd (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
NI ESKIA FIKS (F2LHES )AL (EH]) 134,525 85,276 49,249

& 36,591
Al 97,934
308 AHXIHMSOIH 134,525 85,276 49,249
& 36,591
Al 97,934
11 3I| 2S00 CHeHE & XA 134,525 85,276 49,249
ORWAIBENS EINBAIY (FHEE)
134,525,000& 134,525
T 36,591
Al 97,934
SSHHISSXJMEIA FILXIA (KHA) 2,186,028 2,078,622 107,406
308 AXISHMSOIN 2,186,028 2,078,622 107,406
11 BI 2SI HEHE AR L EALAH] 2,186,028 2,078,622 107,406
O=HEO! & HOHRIFLAMICH
15,5703 *60A| 2H+ 115« 123 1,289,1%
OGRS & NELSEOfAICH
15,5702 +60A| 2++80H « 123 896,832
LLEOC F2AESAHEIA XA (=1) 1,771,336 1,505,850 265,486
= 1,239,935
T 106,280
Al 425,121
308 AXISHMSO0IA 1,771,336 1,505,850 265,486
= 1,239,935
& 106,280
Al 425,121
11 3I| 2SS0 CHeHE & XA I 1,771,336 1,505,850 265,486
OLLHOR FAHSAHHIA KA (20
1,771,336,000& 1,771,336
= 1,239,935
& 106,280
Al 425,121
SO HUE SSAHIA(Z1) 739,986 710,502 29,484
= 517,990
& 44,399
Al 177,597
308 AtXIHMSOI & 739,986 710,502 29,484
= 517,990
= 44,39
Al 177,597
11 BI2SUHHEHE AR L EALAH] 739,986 710,502 29,484
OYLTIOl WS SBAHIA
739,986,000& 739,986
= 517,990




SN &

X ZH -
o=

s ZOHRI=X Jlgtxd (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 44,399
Al 177,597
LSEHCIRE AelaE XA 5,839 4,770 1,069
= 4,087
< 526
Al 1,226
308 XXM SOIE 5,839 4,770 1,069
= 4,087
== 526
Al 1,226
11 S 2SS & AS AL 5,839 4,770 1,069
OZLHMNUIRL deladg X
5,839,000 5,839
= 4,087
== 526
Al 1,226
LEHEAEIA X 1,780,800 1,537,920 242,880
= 1,246,560
s 160,272
Al 373,968
308 AXIHMSO0IA 1,780,800 1,537,920 242,880
= 1,246,560
= 160,272
Al 373,968
1 SJ 2SO0t 4EAS AL S 1,780,800 1,537,920 242,880
OFMOls LEMEAMHIA XIS
1,780,800,000& 1,780,800
= 1,246,560
= 160,272
Al 373,968
AL EHIRN A& 26,390 24,317 2,073
= 18,473
= 2,375
Al 5,542
308 AHAIEMSOIE 26,390 24,317 2,073
= 18,473
= 2,375
Al 5,542
11 S| 2SS & HASAIE 26,390 24,317 2,073
oL X 26,390,000& 26,390
= 18,473
= 2,375
Al 5,542




SRR

M Fojol=x 2@
Rl OIS Jlgtxd EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SSEe 22324 X (&) 25,000 25,000 0
& 7,500
Al 17,500
307 212+01™ 25,000 25,000 0
& 7,500
Al 17,500
11 Al =SXAMEES 25,000 25,000 0
O=3HMC fF=2=4 25,000,000& 25,000
& 7,500
Al 17,500
HOCIHAUES AL 361,862 348,862 13,000
201 LBr2| 40,412 40,412 0
01 ArR22lt| 40,412 40,412 0
OFIERIIE AASLZ XN (HS L
2UHIE) 3,820 6,600 25,212
OFMAXNSXIEEZ Sz oJie &
=82 4,000 3,800 15,200
307 gI2tol ™ 321,450 308,450 13,000
11 AR SXAMEE X 321,450 308,450 13,000
OTfISHH HAs X
77,200,000 *1IH 2~ 77,200
OFMLISXIANEE S SALA A5
20,000,000& *13] 20,000
O=0ud 24 8,000,000 *1JH 2 8,000
OFTOHAUEE T 2SS 29
35,000,000 *1IH 2 35,000
O ZSHEH 29
40,000,000 100 & 40,000
QNI HOIBAY 2
28,000,000 100 2~ 28,000
OdEZEC =X=gs 22
3,000,000& *17H 2 3,000
O AESHY 2
10,000,000 171 2 10,000
(OFSPANPSERES DN gl JN3os!
6,000,000 *1JH 2 6,000
OMIIEOHCITHEE N EALY 2
80,000,000 *1JH 2 80,000
OZOHUMUTHEAILE S| SALAL S2235)
AtES 14,250,000 & *13] 14,250
ZOHQISXIHAL &It IR 6,000 6,000
301 LPENF 6,000 6,000
11 HAIAHIXI A2 6,000 6,000
OZMODtetEal &I
50,0003 x40 2,000




SA: EOjQI= XD
I Rojol=R| P
o

Selr ZOHRISX Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNAZ0H! SXITHa EIH0i]
50,000 *40H 2,000
OH=XME0HCle AL FIH0H|
50,0002 x40 2,000
o u=, X=KHA 120,728 100,728 20,000
307 212+01& 120,728 100,728 20,000
11 AMRISXAEEES 120,728 100,728 20,000
O fFSFFHULSE 2
9,120,000& 10 A 9,120
sorRlE21e =29
20,000,000 * 100 2 20,000
OgzdMe FRUS 248
4,608,000 * 104 2 4,608
OAIZEHe! HXtWIAIY 2
4,000,000 * 104 4,000
OFMIIIE HaE StsXdAE 29
38,000,000 *1IH 2 38,000
OAIZHHC! SSHEAE =2
20,000,000 *1IH 2 20,000
OHols MHAstsHE 29
25,000,000 *10H 2~ 25,000
ZoHelel & A 29,100 29,100
307 el2to| & 29,100 29,100
04 CIZIHAMAMH 2 & 29,100 29,100
OFOHRIS & JIE &AL
29,100,000 *13] 29,100
SIXEO0IE A} 6,790 6,790
307 212+01& 6,790 6,790
04 QIZIHAIAIH E X 6.790 6,790
O E0le &AL X2
6,790,000 *12] 6,790
6.3501212 & A 5,820 5,820 0
307 elztol & 5,820 5,820
04 CIZHHAMAIH 2 & 5,820 5,820
©6.3.50t019 & AL X
5,820,000& 12 5,820
Z0Hel WSE3I0=H At 4,365 4,365 0
307 @I2t0| & 4,365 4,365
04 QIZHHAMAIH 2 £ 4,365 4,365
OZQ nS=sol=H A XIS
4,365,000 12 4,365
=0tel sotsd= 2,910 2,910 0
307 lztol & 2,910 2,910
04 QIZHHAMAMH 2 & 2,910 2,910
SOl StitS X2 A AIE
2,910,000& %12 2,910




SRR

E M

el OISR Jlgtxd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZOHe! =TIHME A 3,880 3,880
307 elztol & 3,880 3,880
04 QIZHHAMALH 2 & 3,880 3,880
O =JIME AL XA
3,880,000& %12 3,880
AYEOHS ZIIHA 2,910 2,910
307 @I2t0| & 2,910 2,910
04 QIZHHAMAIH 2 £ 2,910 2,910
OLIEE R ZII&MAL XIS
2,910,000& %12 2,910
AZIE0HR! S XU = 4,000 2,910 1,090
307 lztol & 4,000 2,910 1,090
04 QIZHHAMAIRH 2 & 4,000 2,910 1,090
OAIZH 0! =X K&
4,000,000& *12] 4,000
WSAtD E01J] A} 2,910 2,910 0
307 @120l & 2,910 2,910
04 QIRHHAMAIH 2 £ 2,910 2,910
OuEALD E017] A K&
2,910,000& %12 2,910
ol 2HZME 23,038 23,038 0
307 elztol & 23,038 23,038
04 QIZHHAMAIH 2 & 23,038 23,038
O LLZME 23,038,000 *13] 23,038
AIMEOS! KH2tHE 4,850 4,850
307 el2to| & 4,850 4,850
04 CIZHHAMAMH 2 & 4,850 4,850
OMH IS A2
4,850,000& 12 4,850
KIMZOHQN HAIE XAMEH 2S 183, 148 179,332 3,816
307 212+01™ 183,148 179,332 3,816
1 ARISTIAISE X 183,148 179,332 3.816
OXHMZHABEAAIL JI=X2HEH 2E
183, 148,000 183,148
ZOHRIDISXIRME 2 351,658 317,554 34,104
307 elztol & 351,658 317,554 34,104
05 2I2tRIE S 351,658 317,554 34,104
OF=Al ZUIIEXEME2S
351,658,000 361,658
Fojel LBt Rte(MLM)AY X (=1) 2,969,933 2,136,886 833,047
= 1,484,966
= 445,490
Al 1,039,477
101 @12A4H| 2,969,933 2,136,886 833,047




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,484,966
=S 445,490
Al 1,039,477
04 JIZtNZ2Z2XNSE+ 2,969,933 2,136,886 833,047
OFOHQ YBrATI2I (HYR)AR KI# (103
) 2,969,933,000& 2,969,933
= 1,484,966
= 445,490
Al 1,039,477
ZoHel et ATl (AIZANAIY R (21) 620,085 482,685 137,400
= 310,042
= 93,013
Al 217,030
101 21A4H| 620,085 482,685 137,400
= 310,042
= 93,013
Al 217,030
MU IIRINZZENSES 620,085 482,685 137,400
OFOHQ! LBFHAXIRI(AIREM)ANY X1 (43
) 620,085,000 620,085
= 310,042
= 93,013
Al 217,030
ZOHel SXIYAtelAY X (21) 1,822,208 1,332,892 489,316
= 911,104
= 273,331
Al 637,773
307 elztol & 1,822,208 1,332,892 489,316
= 911,104
< 273,331
Al 637,773
11 AMEISXAEEE 1,822,208 1,332,892 489,316
OFOHQ! SXILXtelArY XI&(2709)
1,822,208,000& 1,822,208
= 911,104
[ 273,331
Al 637,773
AZEZOHQ! OFOFAF HIHAANE (2 12) 437,347 278,823 158,524
= 349,878
< 26,241
Al 61,228
307 glztol & 437,347 278,823 158,524
= 349,878
s 26,241




SN &

X ZH -
o=

s ZOHRI=X Jlgtxd (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 61,228
11 ARRIS XA E X 437,347 278,823 158,524
OAIZIZOHQ! QHOFAL IHAAN (24%)
437,347,000& 437,347
= 349,878
= 26,241
Al 61,228
LR LYESAEE AIE(S1) 292,013 261,951 30,062
= 146,006
= 43,802
Al 102,206
307 el2to| & 292,013 261,951 30,062
= 146,006
= 43,802
Al 102,205
11 AR S XA E X 292,013 261,951 30,062
OLYZMe SLUBSAIEE AF(16E)
292,013,000& 292,013
= 146,006
S 43,802
Al 102,205
LLZNRI2 2R MRS DHAAE (EHI) 38,390 36,105 2,285
= 11,517
Al 26,873
307 @I2t01 & 38,390 36,105 2,285
s 1,517
Al 26,873
11 AR SXIAIEE X 38,390 36,105 2,285
OLLEMA22A MR MA(1Y)
38,390,000 38,390
= 11,517
Al 26,873
ARANCHAAY SO LN AEHRA(EHI) 6,031 5,748 283
= 1,809
Al 4,222
307 gl2to| & 6,031 5,748 283
=S 1,809
Al 4,222
11 ARRIS XA E X 6,031 5,748 283
ONSXTHAY B0l LSOOI QIEIKIR
(%) 6,031,000& 6.031
< 1,809
Al 4,222
ZOHQ! LAUSHFIIXNAME 2H(=HI) 144,000 142,140 1,860




=N
E M
chel:

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 57,600
Al 86,400
307 lztol & 144,000 142,140 1,860
= 57,600
Al 86,400
11 AMEISXAIEEXS 144,000 142,140 1,860
OZNALTASHFIIXNAME 22 (408)
144,000,000 144,000
=S 57,600
Al 86,400
ZOHQ! 101 1D ZOHQ! D1 &t SIEE LX2IAF( 115,900 162,000 A46,100
)
S 34,770
Al 81,130
307 elztol & 115,900 162,000 A46,100
= 34,770
Al 81,130
11 AMEISXAIEEXS 115,900 162,000 A\46,100
©12! 171 ZoHe! - I &t SEEE L Aiel
At (438) 115,900,000 115,900
=S 34,770
Al 81,130
ST NGRS FHIAY M (=21) 180,452 161,755 28,697
Jl 91,172
=S 26,784
Al 62,496
307 21201 & 180,452 151,755 28,697
Jl 91,172
= 26,784
Al 62,496
1 AMISXAEEXS 180,452 151,755 28,697
OSTHO NAASSE HAXAAG (12°)
180,452,000 180,452
Il 91,172
= 26,784
Al 62,496
Zopel AL S SSAIH (HI) 18,000 20,000 A2,000
== 7,200
Al 10,800
307 212+01& 18,000 20,000 A2,000
[ 7,200
Al 10,800
11 AMEISXIAEEES 18,000 20,000 /2,000




=N
E M
chel:

SA - ZE - B2(30) - HRAS of v e HIDE2
O 0el HASTES AL (2H2)
18,000,000 18,000
= 7,200
Al 10,800
BNCAZ 23 (&H]) 509,199 512,426 N3,227
== 162,760
Al 366,439
307 212+01& 509,199 512,426 N3,227
[ 162,760
Al 366,439
10 AlRISTIAIEEE 22X 509,199 512,426 N3,227
OB =AM 2SR (1IHA)
509, 199,000 » 100 £ 509,199
= 152,760
Al 366,439
ol =249 3,651,598 3,567,643 83,955
307 @I2to| & 3,651,598 3,567,643 83,955
05 glt?(& = 1,545,998 1,535,000 10,998
OFI=X2 2SR (EFAZHUSE
SX2) 1,545,998,000& 1,545,998
10 AlRISTIAIEEE 22X 2,105,600 2,032,643 72,957
OToHSA2 2SN (AT HASE=
INEZ)) 2,105,600,000& 2,105,600
I HEO0ISA2HH 2E 430,824 387,590 43,234
307 gl2to| & 430,824 387,590 43,234
10 AlISXAEEHE 22X 430,824 387,590 43,234
OTOHAHLOISNEEEH 2SS (1H2L)
430,824,000& 430,824
LI ESAIE 223 4,817,881 3,704,760 1,113,121
307 212+01& 4,817,881 3,704,760 1,113,121
05 2ItRIE = 677,355 607,560 69,79%
OTHAFLESAIE 2ERIA (1) 677,355
OFFAIZ Q=22 S HIEH
677,355,000& 677,355
10 Al SXAZEE 22X 4,140,526 3,097,200 1,043,326
OHUMLUFAUESAIE 2SR (PHA) 4,140,526
Odll2 el Se=X2
725,612,000 725,612
O = HIH 405,677,000 405,677
OBICHLIZ=2HHIE DIASA
654,048,000 654,048
Ot EoHel 391,824,000 391,824
O=cl=el 463,252,000 463,252
sotel 266,679,000 266,679




SRR

E M

SEE (crel @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o2 578,256,000 578,256
Olt=el 369,343,000 369,343
o =4 295,835,000 295,835
F=UHSFHE =2& 342,338 320,000 22,338
307 212+01& 342,338 320,000 22,338
10 Al2ISTIAIEEE 22X 342,338 320,000 22,338
O=x01SHHEH 2SI (1HA)
342,338,000 342,338
oI 24 724,9% 696,730 28,266
307 elztol & 724,9% 696,730 28,266
10 Al SXAAEEHE2EHI2x 724,9% 696,730 28,266
OZOHATHE Y 2SI (1HA)
724,996,000 * 10 2 724,9%
OIS et0tE #AHKIE 11,640 11,640
307 21201 & 11,640 11,640
04 QIZIHAIAIH E X 11,640 11,640
OISt 0te HAKIZA
11,640,000 * 13l 11,640
ZOHRITHE R (=21) 39,953 34,600 5,353
= 31,974
< 2,3%
Al 5,583
301 2eEN= 39,953 34,600 5,353
= 31,974
=S 2,3%
Al 5,583
01 Al EE A S(FRNEXM) 39,953 34,600 5,353
O e 2XI|7 X2
39,953,000 39,953
= 31,974
=S 2,3%
Al 5,583
ZoHelel=Hl X (21D) 407,263 533,556 A126,293
= 325,810
= 57,017
Al 24,436
308 AFARIEHMSOIE 407,263 533,556 A126,293
= 325,810
= 57,017
Al 24,436
1 SIS0t HAS A 407,263 533,556 A126,293
oozl XA 407,263,000 407,263
= 325,810




SRR

M ZOI=EX S
el OISR Jlgtxd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 57,017
Al 24,436
ZOHIWEH| XIA(<HI) 106,000 106,000 0
= 42,400
Al 63,600
307 gl2to| & 106,000 106,000 0
=S 42,400
Al 63,600
11 ARRIS XA E X 106,000 106,000 0
OZ O W=IHIXIE 106,000,000 106,000
< 42,400
Al 63,600
HAZoHC S4HIE XA (21) 27,000 27,000 0
= 18,900
== 2,430
Al 5,670
301 2eEN= 27,000 27,000 0
= 18,900
=S 2,430
Al 5,670
01 Al EE AL S(FREXMH) 27,000 27,000 0
o4 Eoiel E4tHIE X2
27,000,000 27,000
= 18,900
S 2,430
Al 5,670
ZOHRIOHE MRS (RHAI) 30,000 86,000 /56,000
301 22N 30,000 86,000 A56,000
02 AL 2EH LGS (HAAS, W) 30,000 0 30,000
OZOHRIHE SAXIAS(XEH) 30,000
OHMHIE It AerEofel
1,500,000 *10H 15,000
OZMWE It SotAE2E 0!
1,000,0002 * 15H 15,000
HEZOHR! JHALE 01 AP (REAI) 143,640 132,600 11,040
307 212+01& 143,640 132,600 11,040
11 AMEISXAEEES 143,640 132,600 11,040
O SEZO0HR! JIALER0l AFS XA
143,640,000 143,640
HAZoHe NEXI(=1) 43,100 44,863 A1,763
= 30,170
< 3,879
Al 9,051
307 lztol & 43,100 44,863 1,763




SRR

Hm: FOjoI=X P
Rl OIS Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 30,170
=S 3.879
Al 9,051
11 AMISXAIEEX 43,100 44,863 A1,763
O HHe WFXIZ A
43,100,000 43,100
= 30,170
= 3.879
Al 9,051
EZ0He Bdlus (<) 30,000 30,000 0
[ 12,000
Al 18,000
307 glztol & 30,000 30,000 0
= 12,000
Al 18,000
1 AMEISXAEEXS 30,000 30,000 0
Ol BHWS 2
30,000,000 30,000
S 12,000
Al 18,000
HQIZOHQ! B2 2H(ZHl) 144,000 160,000 16,000
[ 43,200
Al 100,800
307 elztol & 144,000 160,000 16,000
= 43,200
Al 100,800
11 AMEISXAEEES 144,000 160,000 216,000
OMQITOR BRI 2
144,000,000 144,000
= 43,200
Al 100,800
LR BHws T2 IR (ZHI) 20,000 20,000 0
< 6,000
Al 14,000
307 212+01& 20,000 20,000 0
& 6,000
Al 14,000
11 AMEISXAEEES 20,000 20,000 0
OggHe BMdus 2] X2
20,000,000& 20,000
= 6,000
Al 14,000
AZZEONQIDHE JtAXtSSH RHED| XA (ZHI) 5,800 8,600 2,800
== 2,900




=N
E M
chel:

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,900
307 gl2tol & 5,800 8,600 /2,800
=S 2,900
Al 2,900
1 ARISAIAMZE X 5,800 8,600 22,800
OAIZEOL! JtAXISEH IHED| KR
200,000& x29H 5,800
< 2,900
Al 2,900
A0 ABSEH0IZ ==X 14,000 7,000 7,000
301 EtE N = 14,000 7,000 7,000
02 A2 A6 (FHAAHS, NSWE) 14,000 0 14,000
OFZEH ASEHOIZ ==XI2
7,000,000 x2H 14,000
AEFOHS SAHl & OlAFAHH] XIR (KEA) 35,000 35,000 0
307 @I2t01 & 35,000 35,000
01 22X 2| 35,000 35,000
OS4Hl & OlA Al XI& 35,000
OalZEoel S48 X2
100,000& x25F 123 30,000
OXIZEZOHR! OIAA A KIR
1,000,0002 5% 5,000
ZOHQIHFAIE EIAX NHEEAF KR (<HI) 15,000 20,000 /5,000
< 6,000
Al 9,000
301 2eEN=S 15,000 20,000 /5,000
& 6,000
Al 9,000
02 A2 EH 2GS (FHAAHS, W) 15,000 0 15,000
OZOMANFAIE EXX NEEES A
15,000,000 15,000
= 6,000
Al 9,000
ZOHRIHFAIE HAE 23MEHl S XIA(<HI) 2,819 2,752 67
== 1,128
Al 1,691
307 212+01& 2,819 2,752 67
< 1,128
Al 1,691
11 AMEISXAEEES 2,819 2,752 67
OHMANFAIE A 2MEH S A
el 2,819,000& 2,819
= 1,128
Al 1,691
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A HOHISKIN
Hu: mojoI=X P
Sl OIS JlgtEs (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 192,400 0 192,400
OXONQIOI AL AEHZAF 2121
1,539,200 x25H 5 192,400
= 57,720
Al 134,680
ZoHe! rADHA Zst 29,920 29,920
201 et 3| 9,920 9,920
01 AtR2tc|Hl 9,920 9,920
OHZAl B2 FOH QANN DR 3,90
OLAEY 300,00021+83] 2,400
Osisot 380, 0002 44 1,620
OO 2D B2=
3,000 *2,000H 6,000
307 212+01& 20,000 20,000
11 AMRISXAEEES 20,000 20,000
OF0fel sty 2 20,000,000& 20,000
LEHR 2US== ANBEAE 2E 169,681 0 169,681
= 18,777
== 10,181
Al 40,723
307 212+01& 169,681 0 169,681
= 18,777
= 10,181
Al 40,723
11 AMISXAIEEX 169,681 0 169,681
2L 2S== AEME 2S
169,681,000& 169,681
= 18,777
= 10,181
Al 40,723
ANE=2E JIgEd 42,270,445 34,220,590 8,049,855
= 16,952,575
= 3,016,497
Al 22,301,373
ST NS MENE 2S(=1) 482,490 475,599 6,891
= 192,99
= 86,849
Al 202,645
307 el2tol & 482,490 475,599 6,891
= 192,99
& 86,849
Al 202,645
11 AMEISXAEEES 482,490 475,599 6,891




2A:

X XH -
o=

ZOHR!I= Xl
o= 23

SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZSHNARZMEHE KA (1)
482,490,000& 482,490
= 192,99
[ 86,849
Al 202,645
SSTHA NS LEHEH X2 260,000 260,000 0
= 104,000
Al 156,000
307 el2to| & 260,000 260,000 0
= 104,000
Al 156,000
11 AMISXAIEEX 260,000 260,000 0
OSSZMH NHLEEHH 29
260,000,000& 260,000
< 104,000
Al 156,000
ZOHRIH=AIE AHIYA ol8E XIE(Z21) 201,503 217,094 A15,501
= 141,052
< 18,135
Al 42,316
307 elztol & 201,503 217,04 15,501
= 141,062
=S 18,135
Al 42,316
11 ARRIS XA E X 201,503 217,094 15,501
OBMWUHFAIL AHIYA 0122 X2
201,503,000 201,503
= 141,062
=S 18,135
Al 42,316
ZOHRIHFAIE 2H(=1) 20,665,090 18,473,544 2,191,546
= 14,465,563
= 1,859,858
Al 4,339,669
307 @120l & 20,665,090 18,473,544 2,191,546
= 14,465,563
= 1,859,858
Al 4,339,669
10 AlISXAZEHE 22X 20,665,090 18,473,544 2,191,546
OBMWANFAL 2
20,665,090,000& 20,605,090
= 14,465,563
= 1,859,858
Al 4,339,669




2A:
KEH
ool

ZOHR!I= Xl
o= 23
ANE2Y Jlgtxd

SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
HOHQISHD | HFAIE 2H (XA 1,494,159 1,274,153 220,006
307 21Z2t0| ™ 1,494,159 1,274,153 220,006
05 OIZtRIEZ 711,118 543,705 167,413
OXEOHRUI | HFAIE 2LXR(1IHA)
711,118,000 711,118
10 AIZISAIAIEBHE2IHIEX 783,041 730,448 52,593
OZOHRID | HFAIE2E X (2D0 ) 783,041
OHICHLIED | 2 S HIE 412,392,000 412,392
O3r=s 4] 370,649,000& 370,649
Aol ZSMEIIE 2A 1,564,658 1,524,384 40,274
307 21Z2H0| & 1,564,658 1,524,384 40,274
10 AISISAIAIEHAESIHIEX 1,564,658 1,524,384 40,274
OFMCIBSMEIIIE 2AXRA 1,564,658
oL 66,328,000& 66,328
(OF 68,420,000 68,420
(OFGE 70,652,000& 70,652
O=solg 74.,641,000& 74,641
OO LU & 64,359,000& 64,359
osg3dy 69,213,000& 69,213
O= 84,708,000& 84,708
Oos0tZ 78,027,000& 78,027
Oo%2H 81,195,000& 81,195
OBZLIZIeIE 74,530,000 74,530
OOolelL 70,639,000& 70,639
ogr2y 63,799,000& 63,79
Ot 67,501,000 67,501
(OF 73,371,000& 73,371
O= 75,077,000& 75,077
OO0t D=2 & 69,213,000& 69,213
O=MEJD|1E82E 73,384,000& 73,384
OS=EMEAI2E 65,768,000& 65,768
OZEgold 62,256,000& 62,256
Ooxss 68,420,000 68,420
Odll &= 73,371,000& 73,371
Ogissta 69,786,000 69,786
HoleAd ZOHRIAFAIE KR (=H]) 765,566 597,09 168,470
= 153,113
Al 612,453
307 S1Zto| & 765,566 597,096 168,470
< 153,113
Al 612,453
10 AISIEXIAIEBEE2IHIEX 765,566 597,096 168,470




SA: RfOI=XID
Hm: FojoI=x 7

SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMel=2g I HFAIE X
765,566,000 765,566
= 153,113
Al 612,453
FAUQAAE 2N (I D) 1,574,066 1,494,884 79,182
= 1,101,846
= 157,407
Al 314,813
307 el2to| & 1,574,066 1,494,884 79,182
= 1,101,846
S 157,407
Al 314,813
10 Al SXAIEEHE2EHI2x 1,574,066 1,494,884 79,182
OZRIALE 29 1,574,066,000& 1,574,066
= 1,101,846
< 167,407
Al 314,813
Zoje! MEgE 2 (XHA) 10,800 9,000 1,800
307 elztol & 10,800 9,000 1,800
11 AMEISXAIEEES 10,800 9,000 1,800
OHMAHFAE HES 2SANE
2,160,000 *50H 2 10,800
SHSECBRANEAEY X2 (<) 55,000 50,300 4,700
== 16,500
Al 38,500
307 212+01& 55,000 50,300 4,700
< 16,500
Al 38,500
11 ABI= XA 2 E 55,000 50,300 4,700
OESLULR TYLS 2EXE
55,000,000& 55,000
= 16,500
Al 38,500
UL HFAIE JISES 11,050 102,774 N9, 724
= 5,525
= 1,658
Al 3,867
402 2I2FX=01 & 11,050 102,774 N9, 724
= 5,525
== 1,658
Al 3,867
02 QI X2 AL EE(0IETHE) 11,050 102,774 N9, 724
OFOMANFAIL S22 (0IXTHE)
11,050,000 11,050




2A:

ZOHR!I= Xl

Hm: FOjoI=X P
SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,525
=S 1,658
Al 3,867
ZOHRIFAIE SIIFEHD| eE X (=1) 19,580 19,580 0
= 11,748
S 2,350
Al 5,482
307 @12t0| & 19,580 19,580 0
= 11,748
= 2,350
Al 5,482
11 AMEISXAIEEXS 19,580 19,580 0
OFMIHFAIE SIIFE)| elE XN&
19,580,000& 19,580
= 11,748
= 2,350
Al 5,482
BAQAAL JIsEZ(=21) 443,042 0 443,042
= 221,521
Al 221,521
402 2I2FXH=201H 443,042 0 443,042
= 221,521
Al 221,521
02 QI X2 AL EE (01X THE) 443,042 0 443,042
OHANRQAAIE s
443,042,000 443,042
= 221,521
Al 221,521
S AHEAE JISsE2S(F1) 1,624,648 24,900 1,599,748
= 812,324
= 568,627
Al 243,697
402 2I2F X201 & 1,624,648 24,900 1,599,748
= 812,324
< 568,627
Al 243,697
02 QI X2 AL EE(OIHTHE) 1,624,648 24,900 1,599,748
OZOHAXMATHEAIE JISEZ(6IH) 1,624,648
OSSN (=S =)
695,396,000 695,3%
= 347,698
= 243,389
Al 104,309




2A:

ZOHR!I= Xl

Zu: Zojel=x P
=Rl AIE2E Dl8txy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFFUFeIZE(XAR ESH)
129,152,000& 129,152
= 64,576
[ 45,203
Al 19,373
O SHERIIZE(ZTHEIAIL)
168,306,000 168,306
= 84,153
< 58,907
Al 25,246
O0IBIE (SEI# HaTHI)
486,394,000 486,3%4
= 243,197
== 170,238
Al 72,959
OBZ=8IIUS Exs2H(£2))
27,150,000 27,150
= 13,575
= 9,502
Al 4,073
OUABI2A(DILIZ EEI|H)
118,250,000 118,250
= 59,125
= 41,388
Al 17,737
ZOHAXMSIHEAE 2 10,295,406 9,506,112 789,294
307 @120l & 10,295,406 9,506,112 789,294
05 git?(& = 690,063 645,102 44,961
OFMRANSHSERAIL SHXIRA(1HA) 690,063
OBFAZOIN NS SRAME
690,063,000 690,063
10 Al SXAAIEEHE 22X 9,605,343 8,861,010 744,333
OZOHAXATHEAIE 2SR (140 2) 9,605,343
Os=sgata et 535, 198,000 535,198
Oos=lhza 784,798,000 784,798
OZgxIADoE 866,955,000 866,955
OllleotRA 656,431,000 656,431
Olts2lH 676,871,000& 676,871
HAXNE=E3HA 587,814,000 587,814
OBFeaIIUR . EF==7H
643,775,000 643,775
o=g=z2 1,307,239,000& 1,307,239
O0IS2IH 576,959,000 576,959
Odt=M 740,327 ,000& 740,327




2A:

ZOHR!I= Xl

M ZOI=X S
SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogdol 624,886,000 624,886
O3l2ed=H 565, 129,000& 565,129
OFFL=el R 760,099,000 760,099
OotlsdEEE 278,862,000 278,862
ZOHAXI A THEAIE JISEZ 62,200 62,200
401 Al HIZL 201 20,000 20,000
01 Al&H| 20,000 20,000
OHZAFNAFHLSHE JISHB (24
SAH) 20,000,000& 20,000
402 2IZtA=01d 42,200 42,200
01 QI XHZ AL E (KM THE) 42,200 42,200
OFFAIFRI0ISKIAHEH JIsE2 (&I
22) 42,200
Ooxtg (1) 38,000,000 38,000
OZFE & (3Hh) 4,200,000 4,200
ZOHRISXIAIE =T AN (XA 15,000 15,000
201 er2 3| 15,000 15,000
02 S3=4gl 15,000 15,000
OHMH=XAIE AIERXIH
15,000,000 15,000
SELESHAEMYH 29 100,000 100,000 0
< 30,000
Al 70,000
307 elztol & 100,000 100,000 0
= 30,000
Al 70,000
11 AMEISXAEEE 100,000 100,000 0
OESUZHAEHH 29
100,000,000 100,000
= 30,000
Al 70,000
o= XEre &Y 1,100 3,400 2,300
201 et 3| 1,100 1,000 100
01 At22t2l] 1,100 1,000 100
(©)=-RagEear= NE=] 1,100,000 1,100
STHHAUNEHMSHE 2 (S DME ZHIFOH XY) 60,000 60,000 0
= 18,000
Al 42,000
307 elztol & 60,000 60,000 0
= 18,000
Al 42,000
1 AMISXAIEEXS 60,000 60,000 0




2A:

ZOHR!I= Xl

M ZOI=X S
SRl AIE2g Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSTHMAXHHHH 2 (R0HH &
HIZ=Ot X&) 60,000,000& 60,000
= 18,000
Al 42,000
FHISXAIE XEE BEANAE B2 31,350 31,350
402 2I2F X201 & 31,350 31,350
01 RIENSASE X (XM THR) 31,350 31,350
OZMA=SXAEASE BEALE 25
31,350,0002 31,350
ZOHRICIXIEHSE A 2,533,737 0 2,533,737
401 Al HIZL 2018 2,533,737 0 2,533,737
01 Al&H| 2,491,652 0 2,491,652
O0ISKIAHE EAH 9., 137,000& 9,137
ORI HSE 212
2,395,515,000& 2,3%,515
02 Zeltl 33,851 0 33,851
ORI SE 212
33,851,000 33,851
03 Al 20HHI 8,234 0 8,234
O HRICINILHSE 212
8,234,000& 8,234
AY 2SI ZHI(HOI=XI) 40,062 34,686 5,366
J1I=28Hl 40,052 34,686 5,366
Jl=2&H] 40,052 34,686 5,366
201 el 17,752 14,586 3,166
01 At2telt] 17,752 14,586 3,166
©J1234I(01E2HI) 500,000& * 14 7,000
ozgt(01E2dl)
8,000 x 142+ x 12 10,752
202 04| 16,800 15,600 1,200
01 2K 16,800 15,600 1,200
O=UoiblI(O1=3Hl)
20,0002 x 14«52+ 122 16,800
203 HR=&H] 3,000 3,000
M EA2ER=AH 3,000 3,000
OJ|EH(1521015t) 250,000 122 3,000
405 KHaHF S| 2,500 1,500 1,000
01 ML ESF SHI 2,500 1,500 1,000
(OFSE=r=Enp) 500,000 1CH 500
OO0ISANEE(ALIL)
200,000 * 107K 2,000
HWRES(ZHASXID) 1,400 1,400
28NE 1,400 1,400
grets JIEt 1,400 1,400




£AM: HOoel=XI
PSRN XHE—%‘%(&OHE‘%IU’J)
Cel: 2HXIE =R
= d L5 =
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
802 Btz J|EL 1,400 1,400
02 Al - SHIEXZEHEZE 1,400 1,400
@20218 AIZIEOHCIDIATISSH XHED| K&
A & el Kok 1,400,000& 1,400




H & 0l &8 AF R S Ml A
20238 204 LB SXNZ M ~ 2AMZ 2
SN OIS}
M A . HHE
el Hd=Xsd EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
&I 40,756,577 40,339,245 417,332
= 11,482,900
| 13,967,590
& 4,822,466
Al 10,483,621
. HZH= 40,712,050 40,302,291 409,759
= 11,482,900
J| 13,967,590
& 4,822,466
Al 10,439,094
HEsSXSE 5,499,472 4,872,262 627,210
= 418,443
| 2,016,606
& 893,588
Al 2,170,835
MEMH X8 29 795,286 547,015 248,271
= 365,943
& 182,000
Al 247,343
307 QI2Hol M 795,286 547,015 248,271
= 365,943
= 182,000
Al 247,343
02 QIRHHAAIHE X 795,286 547,015 248,271
OMACIEN 171,000,000& 171,000
= 136,800
Al 34,200
OoXPusEd 94,000,000 4,000
= 94,000
OMHH 23| 270,286,000 270,286
= 135,143
Al 135,143
Os=0-dolgIgHE XA
260,000,000& 260,000
= 182,000
Al 78,000
HEZESEAIES HA,438 117,998 A23,560
201 L2 | 31,438 32,918 A1,480
01 AtR2telt] 31,438 32,918 A1,480
020238 = O{HEIISAAIHE H2
60,0003 x20H 1,200
OX0Pt= dHBSWE 22 6,185
OZ A= 120,000 383 4,560




2A:

Ol&ot=0t

B 014 AIE
=t HE=sAsd (SH &)
SA - B BRA(SH) - HRA - of v e HIDE2
O%=% 9,500 +300H 285
Ol 50,0002 *40H 200
Oux & 824z 950 #1,200% 1,140
o4 ISH =& 5,703
O &2 380,000& *109H 2 3,800
O8N 4,800 10 48
O A HOIA 9,500& «10H %
O&3|E SO0 HiZn=
220,000 2«84 A 1,760
OUHZISIZAl EE2S WM& 5,700
OclZ2 M 1,900&*3,000% 5,700
OWd&s AIENHH 29 2,350
QusZAt=g 350,000 *32] 1,050
Ou=sg+2t 50,0002 22 100
Ousktz 10,000& *70% 700
OO0 Al SIHHZ
100,000 x5IH A 500
OUEESZAIFIH 2 4,800
Oz H#4+¢
100,000& 16 E 32l 4,800
OOtSHEAHEXNHAL AR BH+E
100,000 x 132 +23] 2,600
OFFANSdES?d BH+E 2,900
ORYa E4&+=E 2,600
-Jlgseg 100,0002 x10¥ =23 2,000
AL = 30,0002 102 +23] 600
OetAdAt=¢ 30,0002 x10E*13] 300
203 =4l 7,000 7,000
03 A= PR FZI| 7,000 7,000
OLZH AR 2,000,000& 2,000
00y &or & I A =X
5,000,000& 5,000
301 EtE N = 5,000 7,480 A2,480
14 DBt 2 a=S 5,000 7,000 /2,000
Odalal AIRIEHE 2S4|
10,0002 x202& *253] 5,000
401 AIEHIZ SR THYI 21,000 40,000 19,000
01 AlZ8| 21,000 40,000 19,000
ot =d & 22l 21,000
Oeta 22 LED oty E
300,000 *707H A 21,000
402 212t X201 & 30,000 30,000
01 QIZEXHE AL 2 (RERITH ) 30,000 30,000




2A:

X XH -
o=

Ol&ot=0t
od. 2205

el od=Xsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oodal=telslg A=
3,000,000 * 1000 2 30,000
HeHFgNE Jl2 X3 12,000 12,000 0
S 2,400
Al 9,600
307 @12t0| & 12,000 12,000 0
== 2,400
Al 9,600
02 LB HAHE L 12,000 12,000 0
OMLHE! SARE MMl X
12,000,000 12,000
= 2,400
Al 9,600
HYolEM=a 329,700 428,818 A99,118
= 65,940
Al 263,760
101 21AH| 329,700 428,818 A99,118
== 65,940
Al 263,760
M ORNZZ2NSE S 329,700 428,818 299,118
ONdQIE eIl S 329,700,000 329,700
< 65,940
Al 263,760
JHEY20t0IESAEIA 365,900 365,900 0
201 Ler=23| 1,900 1,900
01 At2teltl 1,900 1,900
OLIEHLEXEAY 22 1,900
o238k 9503 #2,000% 1,900
307 212+01™ 364,000 354,000
11 AMRISXAEEES 364,000 354,000
Ot =2 =02
330,000,000 *10H 2~ 330,000
ot =EsdEg Ay
400, 0002 *30E <22 24,000
dalic] S AAA 36,860 36,860 0
307 @120l & 36,860 36,860
02 QB AANEE R 36,860 36,860
oZEU HIEEXA At
36,860,000 * 11 £ 36,860
Ol et EHHH A HI A 33,000 24,000 9,000
201 er23 | 33,000 24,000 9,000
01 At2teltl 29,000 20,000 9,000
OQHEHBI MHIA 2 S (BIHA)
29,000,000& 29,000
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2A:

Ol&ot=0t

M od. AHIE
el od=Xsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ouskitz 9503 *1,500% 1,425
O83E, 8= 4010, JIE== olg 82
= 1,900
O8E= 1,900& *1,000% 1,900
OdolXl & dEHeEIt 1F 7,263
OZ A= (LBHS 2A12})
350,000 %182 6,300
Osl+=% 45,0002 102 450
Qu=sitz 5,700 *302+33] 513
OHHABEIIA /S BHLL
100,000& 10«12l 1,000
odEdgggit A8 HIE 10,000
OZxdl, g2IXI0Z A AAIOIE AEE
40,0003 x145A 5,800
OH= A, E22 2EE
60,0002 7021 4,200
O45IE - 422 DBNLE DS
90,0003 x4 360
=5 2 H0H0H Hgns 4,750 4,750
307 gl2tol & 4,750 4,750
11 AMEISXAEEXS 4,750 4,750
O&== & H0H0H Mg w=s
1,187,500 2 #4042 4,750
JHE=ES Lokt 2ESAl8 2E X 337,027 312,559 24,468
Jl 245,369
=S 45,829
Al 45,829
307 21201 & 337,027 312,559 24,468
Jl 245,369
= 45,829
Al 45,829
1 AMISXAIEEXS 337,027 312,559 24,468
OIS =HIUNA 2E5AE 2 X2
300,527,000 300,527
Il 210,369
= 45,079
Al 45,079
OJEZHIIA 2ESAIE Hl=== AH4H H|
9,000,000& 9,000
Jl 9,000
OFEALA Fei @]
5,000,000 5,000
Jl 3,500
= 750
Al 750
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ool

GO =T
Ol H2UILE
PN

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OJIEZS A BSAE E4 Al IR
k=1 22,500,000 22,500
| 22,500
NEZZIINA ESAIE JIsE2 19,500 20,000 AB00
| 9,750
= 4,875
Al 4,875
402 BIZHR=0l A 19,500 20,000 AB00
| 9,750
& 4,875
Al 4,875
02 QIZHKIEAIE EX(0IHTHS) 19,500 20,000 AB00
OIS =TIk ESAE JIsEE
19,500,000& 19,500
| 9,750
& 4,875
Al 4,875
NEES OIchA XIZ22=s 2208 & olzd| X& 66,620 67,620 A1,000
| 46,634
& 9,993
Al 9,993
307 gI2Hol ™ 66,620 67,620 A1,000
| 46,634
& 9,993
Al 9,993
11 AL =SXAMEES 66,620 67,620 A1,000
OIHEHIHK XZE= T2
54,620,000 54,620
| 38,234
& 8,193
Al 8,193
OJtE==TIoH AL 2=l 12,000,000 12,000
J| 8,400
& 1,800
Al 1,800
IHEZZNEAS 29 141,280 135,036 6,244
J| 70,640
= 35,320
Al 35,320
307 212+01 A 141,280 135,036 6,244
| 70,640
= 35,320
Al 35,320
11 AR SXAMEE R 141,280 135,036 6,244
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X XH -
o e

=aak

GO =T
Ol H2UILE
PN

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OJIE=guagEs 29 141,280,000& 141,280
| 70,640
T 35,320
Al 35,320
sSEagAs 29 212,412 203,052 9,360
| 106,206
T 53,108
Al 53,103
307 QIZ2t01 A 212,412 203,052 9,360
| 106,206
T 53,103
Al 53,103
11 Al =SXAMEES 212,412 203,052 9,360
osgaEAs 29 212,412,000& 212,412
| 106,206
& 53,103
Al 53,103
ZHIIIHE FAKAE 2SR 41,180 39,543 1,637
| 28,826
& 6,177
Al 6,177
307 212+01™ 41,180 39,543 1,637
J| 28,826
& 6,177
Al 6,177
11 Al SXAMEES 41,180 39,543 1,637
OZHEIiHd =AHAA 23
41,180,000& 41,180
J| 28,826
= 6,177
Al 6,177
I =S A ndXls T2 12,981 13,181 A200
J| 9,087
= 1,947
Al 1,947
307 212+01 A 12,981 13,181 2200
| 9,087
= 1,947
Al 1,947
11 Al SXAMEE X 12,981 13,181 A200
OJE=SDIoA n&EXZ T2
12,981,000& 12,981
| 9,087
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X XH -
o e

=aak

GO =T
Ol H2UILE
PN

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 1,947
Al 1,947
SHESAES 2R 460,646 444,224 16,422
J| 230,323
= 115,162
Al 115,161
307 2I2+01A 460,646 444,224 16,422
| 230,323
= 115,162
Al 115,161
11 AR SXAMEE R 460,646 444,224 16,422
O8Z2NGs 2ETS
460,646,000 460,646
| 230,323
= 115,162
Al 115,161
SEZHTIHA BESAIE 2E XA 609,631 589,857 19,774
| 426,742
& 91,445
Al 91,444
307 gI2tol M 609,631 589,857 19,774
| 426,742
& 91,445
Al 91,444
11 AL =SXAMSEES 609,631 589,857 19,774
Od=Z1loh At ESAE 29X
609,631,000 609,631
| 426,742
& 91,445
Al 91,444
SAZATIGHA MAHH K& 13,947 13,627 320
| 13,947
307 212+01™ 13,947 13,627 320
J| 13,947
11 Al SXAMEE X 13,947 13,627 320
OHZAWGHN ESAIE HISSX M
X3 13,947,000 13,947
| 13,947
A= IlofAt Xzl T2 88,429 85,800 2,629
| 61,900
= 13,265
Al 13,264
307 gIzHol 88,429 85,800 2,629
| 61,900
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X XH -
o e

=aak

GO =T
Ol H2UILE
PN

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 13,265
Al 13,264
11 AMEISXAEEES 88,429 85,800 2,629
O8Z2 WK XRE= T2
88,429,000& 88,429
Il 61,900
< 13,265
Al 13,264
4= Lok 2l=4| 2HEH 49,721 47,550 2,11
Jl 34,805
< 7,458
Al 7,458
307 glztol & 49,721 47,550 2,1
Il 34,805
== 7,458
Al 7,458
11 AMRISXAEEES 49,721 47,550 2.1
O&Z TR ol2H| 2|
49,721,000 49,721
Il 34,805
s 7,458
Al 7,458
SZY0Ii AL ESAE JIsES 26,076 0 26,076
Jl 13,038
=S 9,127
Al 3,911
402 2I2F X201 & 26,076 0 26,076
Jl 13,038
= 9,127
Al 3,911
02 QI XHZ AL E R (01X THE) 26,076 0 26,076
O&ZNoi Nt ESAIE JIsE2E2
26,076,000& 26,076
Il 13,038
= 9,127
Al 3,911
odtetlde 2SI 490, 161 442,072 48,089
Il 343,113
= 73,524
Al 73,524
307 el2to| & 490, 161 442,072 48,089
) 343,113
= 73,524
Al 73,524
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GO =T
Ol H2UILE
PN

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 Al SXIAIEE 490, 161 442,072 48,089
OBt ME 29X
490,161,000& 490, 161
Jl 343,113
< 73,524
Al 73,524
g=4 Ukt SsHIE 5 N2 3,000 7,100 4,100
Jl 2,100
< 450
Al 450
307 lztol & 3,000 7,100 24,100
Il 2,100
== 450
Al 450
11 AMRISXAEEES 3,000 7,100 24,100
Ol Xt 20HHIS 3,000,000 3,000
7l 2,100
= 450
Al 450
cibret by J1s22H K& 1,000 0 1,000
2l 500
= 250
Al 250
402 2I2F X201 & 1,000 0 1,000
Il 500
= 250
Al 250
02 QIZHNHE AL E X (01X THE) 1,000 0 1,000
OdhtteIde JIs2d 1,000,000& 1,000
) 500
= 250
Al 250
SOHOHLIOH At &84 =29 183,550 178,715 4,83
Jl 91,775
< 45,888
Al 45,887
307 elztol & 183,550 178,715 4,835
Il 91,775
[ 45,888
Al 45,887
11 AMEISXAEEES 183,550 178,715 4,83
OHDHONIOH At &4 29
183,550,000 183,550
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GO =T
Ol H2UILE
PN

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 91,775
=S 45,888
Al 45,887
SOHOHIIOH At XIZAIE2SE 235,209 229,407 5,802
7l 164,646
= 35,282
Al 35,281
307 @12t0| & 235,209 229,407 5,802
Il 164,646
= 35,282
Al 35,281
11 AMEISXAIEEXS 235,209 229,407 5,802
OHUOHOHLIOH At KIZAIE 23
235,209,000 235,209
Il 164,646
= 35,282
Al 35,281
SOHOHLIOH At EXIR AFE 73,766 73,766 0
Il 51,636
= 11,065
Al 11,065
307 el2tol & 73,766 73,766 0
) 51,636
& 11,065
Al 11,065
11 MEISXAEE 73,766 73,766 0
O OHONLWBH At R =XIE ALY
73,766,000& 73,766
) 51,636
< 11,065
Al 11,065
SOHORLIOH Kt XIRAIE JIsEd 4,500 9,338 A4,898
Il 2,250
== 1,575
Al 675
402 QIF X201 & 4,500 9,398 A\4,898
Il 2,250
== 1,575
Al 675
02 RIINEASEZ(0IETHR) 4,500 9,398 A4,898
OHHORIIOH At XIZAIE JIsE2
4,500,000 4,500
Jl 2,250
s 1,575




AT HEIED
ZE: 018 AAINE
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 675
oot ~E oA WF 20,000 20,000 0
= 10,000
= 5,000
Al 5,000
307 gl2to| & 20,000 20,000 0
= 10,000
= 5,000
Al 5,000
11 AMEISXAIEEES 20,000 20,000 0
ONOJOIE HAH o1 DS
20,000,000 20,000
= 10,000
= 5,000
Al 5,000
HEZE2EAIE M2HHH| 13,200 12,000 1,200
= 3,960
Al 9,240
307 @120l & 13,200 12,000 1,200
== 3,960
Al 9,240
11 AMRISXAEEES 13,200 12,000 1,200
O 4ZHZHAAE SALA XA
13,200,000 13,200
= 3,960
Al 9,240
HE=y 2 Ald 28 X 99,600 96,000 3,600
= 19,920
Al 79,680
307 @20l & 99,600 96,000 3,600
s 19,920
Al 79,680
11 AR SXAIEE X 99,600 96,000 3,600
O &= 2edAld 2 K&
99,600,000 99,600
& 19,920
Al 79,680
(GESESSU RPN = (U N DAL 60,000 60,000
307 el2tol & 60,000 60,000
11 AMEISXAIEEXS 60,000 60,000
O=sx/YY 29
60,000,000 *1IH £ 60,000
SOH0H WollotsEAE SN 125,530 124,000 1,530
7l 62,765




2A:
PSR
ool

GO =T
Ol H2UILE
PN

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 31,383
Al 31,382
307 lztol & 125,530 124,000 1,530
Jl 62,765
== 31,383
Al 31,382
11 A2l S XA 125,530 124,000 1,530
OMONON TIHOISHAE XIAF ST HES
29 125,530,000 125,530
Il 62,765
== 31,383
Al 31,382
ZELNE F=AXE 2UHES=S 554 1,480 A926
7l 554
402 2I2F X201 & 554 1,480 N926
Il 554
02 QI 2 AL E X (0IETHR) 554 1,480 N926
OZATHOIL =N YULBSD (A=
) 554,000 554
) 554
CIANE d8% SatZz 18 XA 85,000 0 85,000
= 42,500
[ 21,250
Al 21,250
307 glztol & 85,000 0 85,000
= 42,500
== 21,250
Al 21,250
11 AR SXAIEE X 85,000 0 85,000
OUIXE Mgz SsiZ0g XA
85,000,000 85,000
= 42,500
=S 21,250
Al 21,250
Hg12017 SHAEME X2 At 20,000 0 20,000
201 2egh=3| 1,000 1,000
01 At2t2lt] 1,000 1,000
OCHIBHIE NN BE
5,000 x200% 1,000
301 LEtE N = 19,000 19,000
03 A2 E A0S (XILTHH) 19,000 19,000
O0&121717 QHIEHE X
190,000 100 19,000
A H=84H =22 206,157 0 206,157




AT HEIED
T Ol AYINE
el Hd=Xsd (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 4,239 4,239
01 AlR221H| 1,800 1,800
OALOIHRR| Y 242
40,0002 128 480
ORUMAZHIHE =2
110,000~ 128 1,320
2 35244l 2,439 0 2,439
OFFAl (=3 dH AIZFHISAIYI
3,230 x755m 2,439
307 elztol & 201,918 201,918
05 21t S 201,918 201,918
on=gdH 29 201,918,000& 201,918
QIAEM A 28 2,504,191 2,252,513 251,678
s 874,620
Al 1,629,571
elAEH ge=d 21,275 18,775 2,500
201 2= 21,275 18,775 2,500
01 At22t2l] 21,275 18,775 2,500
OelREM AL QHHMIL S M 13,225
OJt=2e UC UIERT AAK &
2,500 +8300H*13] 2,075
OI15&s UC UIERD A &0J2 St
NES 400,000 *107H 2 4,000
OJt=2let UIC UWIER A JtEde s &
Ab==E 200,000& * 122 2,400
OFE=20t=g X M=
5,0002 *9500H 4,750
OFFAFIIE €5 H 2= MR 7,000
OIt=ENE E3 1,000& 5,000 5,000
OZE= M 200 %10,0000HK 2,000
OMStNE AR MR 2 1,050
Og4=g 100,000 7 & *13] 700
OtA==& 50,0008 x7H*13] 350
30 #HES 40,000 20,000 20,000
201 =3 40,000 20,000 20,000
03 A2 I 40,000 20,000 20,000
OF =0, #HES W=
10,000,000 *43] 40,000
IEAEY NSSS A 17,000 16,700 300
201 er2&| 13,000 11,700 1,300
03 A= SHI 13,000 11,700 1,300
OIIEAE Ngs2 A
13,000,000& x12] 13,000
301 Eet2 NS 4,000 5,000 1,000




AT HEIED
B 014 AIE
el o AR =Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 4,000 5,000 21,000
OIIEAY N9sH S28 AMd=
4,000,000& 4,000
A2s BEHN 23 XL (E=SY=SZESH) 1,749,240 1,931,860 182,620
=S 874,620
Al 874,620
301 LEtE NS 1,749,240 1,931,860 A182,620
== 874,620
Al 874,620
14 JIEt2 4= 1,749,240 1,931,860 A182,620
QAL ZETARI XL (SRY=ZES
) 1,749,240,000& 1,749,240
= 874,620
Al 874,620
ISR UCC WIERAD A3E 17,000 17,000
201 er=23y| 17,000 17,000
03 A= I 17,000 17,000
OJt=xe UC WERA /s
17,000,000 x12] 17,000
BXIH(COW. 50 4)0t2 KI& A 29,023 19,178 9,845
101 @124H| 8,543 5,418 3,125
M ORNZZ2NSE S 8,543 5,418 3,125
o3X g Ot2 ssE208 2% UM 2
= 9,620 *3AI 26 +48L 8,312
o3X= Ote =558 2% UM D
E=28= 8,400,000& *1.75% 147
O&XE Ol =sZ2 18 29 LN &
ME"g= 8,400,000 *1.00% 84
201 er2 3| 20,160 13,440 6,720
01 At2t2lt] 20,160 13,440 6,720
O&XE Ot SssL2 08 ZAE
35,0002 *2A| 24483 60 2 20,160
301 EtE NS 320 320
11 #AIAMHIXIZ S 320 320
O&X% Ot 20 A #F3E& HAl
16,0002 20 320
tless =8i=s Us0k X 411,553 220,000 191,553
101 e124d| 11,553 0 11,553
M ORINZZ2NSE S 11,553 0 11,553
OtlefR FEI=s HWE0IX X3AAMS |
ZHHl 224 el2Hl S 11,883
@)uFal:] 9,620 xBAI2H*1H 136 10,390
OAHEE JI2RE=2 1,163
2ALLE= 10,389,600 *3.495% 364




FA 8IS

2 . dHHE

CHol: QIREmM Al 2o CERE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
“HIIQRYEEE 363, 116&*12.27% 45
-=0H=z 10,389,600 *4.50% 468
-NEEE 10,389,600& *1.75% 182
—ATHEE 10,389,600 *1.00% 104
301 LPBENZ 400,000 220,000 180,000
03 MBI B & 26I2(RILTHE) 400,000 0 400,000
OMESS ZHXZ HS0IX X
1,000,000 *4002+ 7 400,000
SEEE it FO0I=M X2 209,100 0 209,100
201 L2 AY| 5,100 0 5,100
01 A=R2teld| 5,100 0 5,100
O=A=3PIIE M 1,000& *5, 10004 5,100
206 =4l 204,000 0 204,000
01 =Yl 204,000 0 204,000
@)=y el 20,0003 =225, 1004 204,000
F2E2 DEX 10,000 0 10,000
201 L2 AH| 10,000 0 10,000
03 At2ZH] 10,000 0 10,000
ollegd &8s 10,000,000& *13l 10,000
NHEI| I SEHY 32,708,387 33,177,516 A469,129
= 11,064,457
| 11,950,984
T 3,054,258
Al 6,638,683
SIERIIE ANEHY=RH S X2 (0lsY¥=]) 12,869,303 11,083,150 1,786,153
| 10,295,443
& 1,286,930
Al 1,286,930
301 LPENF 12,869,303 11,083,150 1,786,153
| 10,295,443
& 1,286,930
Al 1,286,930
01 AISIBE XS (2 RETME) 12,869,303 11,083,150 1,786,153
OBILRILE THAYRH S XA (0ISY
gl) 12,869,303,000& 12,869,303
| 10,295,443
& 1,286,930
Al 1,286,930
HAESIED TEX2 (0ts2sHI) 121,504 185,150 A63,646
| 97,204
& 12,150
Al 12,150
301 LPENSZ 121,504 185,150 A63,646




2A:

X XH -
o=

Ol&ot=0t
od. 2205

-

Rl DRI IsEY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 97,204
=S 12,180
Al 12,150
01 Al E2E AL S(FRDEXH) 121,504 185,150 A\63,646
OFAHERL TEAIH(OtSL|H S)
121,504,000 121,504
7l 97,204
S 12,150
Al 12,150
98 0IE22N HEII2 29 131,800 67,800 64,000
Jl 65,900
S 32,950
Al 32,950
307 @120l & 131,800 67,800 64,000
Il 65,900
= 32,950
Al 32,950
11 AMEISXAIEEXS 131,800 67,800 64,000
OAALED BN HEI|B 2%
131,800,000 131,800
Il 65,900
= 32,950
Al 32,950
SRS SXAIE YA a5 . X=H K2 32,000 25,410 6,590
Il 16,000
= 11,200
Al 4,800
307 elztol & 32,000 25,410 6,590
) 16,000
< 11,200
Al 4,800
11 AMEISXAEEE 32,000 25,410 6,590
ORRIIE SAAE 40 &5 XS]
A& 32,000,000& 32,000
Jl 16,000
[ 11,200
Al 4,800
SSHEIIZSE (HL L) FAHXI 70,280 54,300 15,980
Jl 70,280
307 212+01& 70,280 54,300 15,980
7l 70,280
1 AMEISXAIEEXS 70,280 54,300 15,980
OZ3sHEIIESE (ML) =HXZ
70,280,000& 70,280




A O

I

I Ol AYINE
Rl DRI IsEe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 70,280
BRDIIE Ll X2 (Zh) 547,400 557,400 10,000
= 109,480
Al 437,920
301 Y23 547,400 557,400 10,000
=S 109,480
Al 437,920
02 APBI2EXSFS(HUANS, TLH) 547,400 0 547,400
OFILRIHE et X
547,400, 0002 547,400
= 109,480
Al 437,920
BERIIESAANL 2% 639,742 636,765 2,977
307 2I2H0| A 639,742 636,765 2,977
NEEVNEEEEETTEES 639,742 636,765 2,977
OBRRIIE =NAL 2 (3H2) 639,742
OHFH2E0IE 2% 404,742,00024 404,742
ouEs 29 112,000, 0002 112,000
OMMAX AHE 2 123,000, 0008 123,000
DUHESAY SAT HYERE N 18,000 8,000 0
301 Y2 Az 18,000 18,000 0
02 ABI2RHLFS(HHS, TLH) 18,000 0 18,000
ORXESAIE EAK HEHES X2
3,000, 0002 +62 18,000
SRR NI IS 2RIHINE 16,000 20,000 4,000
301 Y23 16,000 20,000 A4,000
2 ABIZBHAGS(HAANS, NLHR) 16,000 0 16,000
OSIRRIHE NITHF JI& 2|
2,000,000 82 16,000
BRDIIE 2XAIE O0ISEBAHIA Xg 2.715 165,974 A185,250
g 21,500
3 6,450
Al 2,765
307 2I2H0| A 30.715 165,974 185,250
p 21,500
=S 6,450
Al 2,765
TEEINETEES 30,715 165,974 135,250
OStREIHE SANE 00ISS ABIS K
2 30,715,0002 30,715
ol 21,500
=S 6,450
Al 2,765




AT HEIED
ZE: 014 AN
Rl DRI IsEe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HRS0ISAIE 2SR 5,000 5,000
307 elztol & 5,000 5,000
04 QIZHHAMALH 2 & 5,000 5,000
OFR2IIE A 5,000,000& 5,000
BFAIIEHE AIZEH] =X 4,942 2,660 2,282
201 er=23y| 4,942 2,660 2,282
02 S3=gHl 4,942 2,660 2,282
OFFAIJIFHE AE2&BI=A8I
1,320&%3,718.28M 4,942
JHEole "AF XIE 20,000 0 20,000
307 elztol & 20,000 20,000
04 QIZIHAIAIRH 2 X 20,000 20,000
OJI=AY BH0te &AL
20,000,000& *13] 20,000
Ol XIZAH 5,977,117 5,000,000 9r7 17
= 4,183,982
& 537,940
Al 1,255,195
307 elztol & 2,377,117 1,800,000 577,117
= 1,663,982
< 213,940
Al 499,19%
11 AMEISXAEEES 2,377,117 1,800,000 577,117
O0otoI=s XA 2,377,117,000& 2,317,117
= 1,663,982
s 213,940
Al 499,19
308 XXM SOIA 3,600,000 3,200,000 400,000
= 2,520,000
=S 324,000
Al 756,000
1 S| 2S0UeB XA AIE 3,600,000 3,200,000 400,000
O0L0I=s XA 3,600,000,000& 3,600,000
= 2,520,000
= 324,000
Al 756,000
OLOISSAIEHE SAEL XML 10,800 13,200 A2,400
< 3,240
Al 7,560
307 elztol & 10,800 13,200 A2,400
& 3,240
Al 7,560
11 AMEISXAEEES 10,800 13,200 22,400




2A:
X XH -
o e

=aak

Ol&ot=0t
od. 2205

B s

-

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OOHISSXIAME SAXE X LHAH]
10,800,000& 10,800
& 3,240
Al 7,560
FERAVIE XE A 187,750 187,860 A110
= 93,875
& 46,938
Al 46,937
307 212+01™ 187,750 187,860 A110
= 93,875
= 46,938
Al 46,937
11 AR SXAMEES 187,750 187,860 A110
OF &2010tF KJAAS
187,750,000& 187,750
= 93,875
= 46,938
Al 46,937
25=F0tLsH 29 275,970 246,808 29,162
J| 137,985
= 96,590
Al 41,3%
307 212+01 A 275,970 246,808 29,162
| 137,985
T 96,590
Al 41,3%
11 Al SXAMEE X 275,970 246,808 29,162
OBSKR0USH 2 (B5IM4)
275,970,000& 275,970
| 137,985
& 96,590
Al 41,3%
CH23tE XNI9ALE X3 21,030 20,580 450
201 L2 AH| 2,600 2,150 450
01 AtR2elt] 2,600 2,150 450
OAEHEEI W, =20 Z&IH ME
100,000& 10X 1,000
OFFAl Th23tE XA ARz E8+E
100,000 *8H +23| 1,600
307 QIZt01 A 18,430 18,430
04 QIZIHAIAIE E X 18,430 18,430
OCH2SHMIE &AL 18,430,000 *13] 18,430
JIEHE 29(=1) 656,060 644,860 11,200
| 328,030




2A:

E M

X=]

: JP’CJIEQ/}:

O#é?k P

O;‘/d D I.ZF_

*J

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 98,409
Al 229,621
307 212+01 A 656,060 644,860 11,200
| 328,030
T 98,409
Al 229,621
05 QIZtAEr 2 656,060 644,860 11,200
OAHZIE - LhEIIEXI2MEH 29
656,060,000& 656,060
| 328,030
& 98,409
Al 229,621
CI2SIEXIJEH 28(=1) 209,340 203,340 6,000
| 104,670
& 31,401
Al 73,269
307 QIZ2t01A 209,340 203,340 6,000
| 104,670
& 31,401
Al 73,269
05 It e g 209,340 203,340 6,000
OUI2SINEXAMEH 2H(HA)
209,340,000& 209,340
| 104,670
& 31,401
Al 73,269
CH2SIEXAEEHSY (KHAM) 80,000 80,000
307 2I2+0l ™ 80,000 80,000
11 AR SXAEE X 80,000 80,000
OCI2SIIEX2ME T2 2 X2(H
=) 50,000,000 *1IH 2 50,000
OUZIIIEX M T2 2HXIJA(H
) 30,000,000 *1JH 2 30,000
C2StE XA HEH SAER HRIH&H| 20,400 20,400 0
T 6,120
Al 14,280
307 2I2+0l™ 20,400 20,400 0
= 6,120
Al 14,280
11 Al SXAMEE R 20,400 20,400 0
OU2SIIIEXJAEE SAHK HRINAH]
20,400,000& 20,400
& 6,120
Al 14,280




2A:

X XH -
o=

Rl DRI IsEY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CH2shts SHAXI(Z]) 31,788 30,050 1,738

= 15,8%4
Al 15,8%4
307 el2to| & 31,788 30,050 1,738
= 15,8%
Al 15,894
1 AMISXAIEEXS 31,788 30,050 1,738
Ob=3hts SHAXH ()
31,788,000 31,788
== 15,8%4
Al 15,8%
CtEshts Sdat At 915,061 894,149 20,912
Il 457,531
== 137,259
Al 320,271
307 212+01& 915,061 894,149 20,912
7l 457,531
= 137,259
Al 320,271
11 AMISXAIEEX 915,061 894,149 20,912
OU23tE SH3t A (E=F)
529,875,000 529,875
Jl 264,938
= 79,481
Al 185,456
OU23tE SH3t A (HE)
385, 186,000 385,186
Jl 192,593
=S 57,778
Al 134,815
HSIIEA G A A 40,000 40,000 0
< 20,000
Al 20,000
307 elztol & 40,000 40,000 0
= 20,000
Al 20,000
1 AMEISXAEEES 40,000 40,000 0
OY=IEHEMHIA(FF)
20,000,000 20,000
= 10,000
Al 10,000
OIS LGMHIA(FR)
20,000,000 20,000
& 10,000




2A:

Ol&ot=0t

M 4. H2IE
&2l JIB)|sey EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Al 10,000
ZHTIoH0I=0HE 2ESAIE 2F XA 266,767 259,112 7,655
| 189,737
& 38,520
Al 38,510
307 212+01™ 266,767 259,112 7,655
| 189,737
& 38,520
Al 38,510
10 Al SXAEHE2EHIEX 266,767 259,112 7,655
OZ4Ilol 0IFHE EsAd 29 266,767
O=Zglld 0l E3AE 2¢Y
256,767,000 256,767
| 179,737
& 38,520
Al 38,510
O=g1lol 010 ESAIE ElAAl
N&3 10,000,000 10,000
| 10,000
Z230JoH OlIF0HE BESAlE B2 5,000 5,000 0
| 3,500
& 750
Al 750
402 QI2E X201 ™ 5,000 5,000 0
J| 3,500
= 750
Al 750
02 QIZEXHEAIZ 2 (01 THE) 5,000 5,000 0
O=gIlol 0IF0HE ESAIE B2
5,000,000& 5,000
| 3,500
= 750
Al 750
EMEASRE(EX) 80,500 1,696,300 A 1,615,800
& 16,100
Al 64,400
301 LPENF 80,500 1,696,300 A 1,615,800
T 16,100
Al 64,400
03 MBI 2 & A6l 2 (K THEA) 80,500 0 80,500
OSAEHAZ KR 80,500,000& 80,500
T 16,100
Al 64,400
ool =23 8,892,000 10,496,000 1,604,000




SEAk O4*§7P P
I A A=
e JP"JI%@/}; EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,669,000
=S 445,000
Al 1,778,000
301 EetE2 NS 8,892,000 10,496,000 1,604,000
= 6,669,000
= 445,000
Al 1,778,000
01 Al EE AT S (2 RDEXA) 8,892,000 10,496,000 1,604,000
oxggolEd 2,000,000 4,446 8,892,000
= 6,669,000
= 445,000
Al 1,778,000
Sl 0l0d & 28XNE 255,428 253,108 2,320
Jl 127,714
T 63,857
Al 63,857
307 elztol & 255,428 253,108 2,320
Il 127,714
< 63,857
Al 63,857
10 Al SXAEEHE2EHI2x 255,428 253,108 2,320
O=AMFH 01018 NEL 2EX
255,428,000 255,428
Jl 127,714
[ 63,857
Al 63,857
SIRIIIE SXAE AlRESRRE e ZH| 35,490 18,840 16,650
Jl 35,490
301 22N = 35,490 18,840 16,650
Jl 35,490
10 MSRREES 35,490 18,840 16,650
OstRZ2IIE SIAAE AlRISRRE o1F
&Hl 35,490,000 35,490
Il 35,490
SSFROIL=sH SAEL XIHEH| 6,000 4,800 1,200
= 1,800
Al 4,200
307 @12to| & 6,000 4,800 1,200
== 1,800
Al 4,200
1 AR SXAIEE X 6,000 4,800 1,200
OSSSO0tLlsE SALL XM IHAH|
6,000,000 6,000
& 1,800




2A:

Ol&ot=0t

M g AHIE
Rl DRI IsEe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 4,200
FALERD OtS2FH A AEAIE 235,200 0 235,200
= 117,600
= 35,280
Al 82,320
301 EtE NS 235,200 0 235,200
= 117,600
= 35,280
Al 82,320
01 Al EE A ZS(2REXMR) 235,200 0 235,200
OHAERD OISYTH KR (ABA)
235,200,000 235,200
= 117,600
= 35,280
Al 82,320
HH2LIHI(HEII=ED) 44,527 36,954 7,573
el 23 3,943 3,943 0
JIEAE 3,943 3,943 0
101 e124d| 3,943 3,943 0
02 JIEtM == 3,943 3,943 0
OAIZIRIZ RS (LI IIH)
10,9523 x1&*30A1 2t 122 3,943
Jl=3H| 40,584 33,011 7,573
Jl=23H] 40,584 33,011 7,573
201 er23| 16,484 14,411 2,073
01 AtR2t2|HI 16,484 14,411 2,073
OJl2g 83| 500,000& 13 6,500
ozgt(01=3dl)
8,000« 13+ 122 9,984
202 04l 15,600 15,600
01 2LHoIH 16,600 15,600
oozl 20,0002 x 13«52« 12 16,600
203 HR=H| 3,000 3,000
MU A2 LRFAI 3,000 3,000
O©J1EA (152! olatH) 250,000 x 122 3,000
405 KHAHF SH] 5,500 5,500
01 L ESFISHI 5,500 5,500
OB = AP 5,500,000 = 1CH 5,500




BT =04 Lt b~ M)
tsSES
ts st
SEXDgEY (SH &)
M- B SRASH) - HRAR - B2 of v e HIDE2
OlSE=1 365,095,550 327,724,640 27,370,910
= 183,583,305
[ 5,475,355
Jl 326,704
== 98,752,242
Al 66,957,944
= &at, 25 362,593,277 325,661,301 26,931,976
= 183,244,265
s 4,553,743
Il 326,704
= 98,379,480
Al 66,089,085
S=EXJ|gx 93,961,522 93,972,49% 10,973
= 48,743,913
s 4,553,743
Il 326,704
= 9,900,932
Al 30,436,230
SEIBEA 66,391 88, 166 N21,775
201 etz 55,420 56,095 VANT()
01 At 30,420 24,920 5,500
oots 1,680
Oots
350,000 42 1,400
Oot=
70,0003 *4H 280
OO0t = 10,640
o clu= |
3,000 *300H 900
OO0pIt ws 9
70,0003 *2H 140
OO0t = ZAHI
120,000 »802] 9,600
OO0tsaletE cl S28l 7,000
Os=2=3 3,000 1,000 3,000
OclZ& 2,000& +2,000% 4,000
oIz +=¢ 11,100
OO0tsaetEAl =AY E4+E
100,000& 10 22| 2,000
OOtSZt=Al FHARS] QHAMAL =&
50,0003 * 13 *22] 1,300
Oltsdcdl sRXHE E45E
100,000 32 *43] 1,200
O0tsdel SRZHE AMA =&
50,0002 x3H *43] 600




SN OlSESD
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOISEOIARE B4+T
20,0002 *30 *102] 6,000
02 S3=gHl 5,000 5,000 0
OOtsaet=Al NLHFE2S 2]
5,000,000& 5,000
03 A2 I 20,000 26,175 26,175
o0& 23 10,000,000 10,000
OO0tS HAE M Ho BHOML
10,000,000 10,000
203 HR=4AY] 2,000 2,000
03 A=A PR F&| 2,000 2,000
O8t K OlsTatEAl =9 MY =8
2,000,000 2,000
301 2= 900 900
11 AALAEIXIE S 900 900
OOISEHOU AR AL 2HAH]
3,000& *30& x 102 900
307 elztol & 8,071 8,071
02 2IZHBYAIHE & 8,071 8,071
Oltsdel 2UHEH 29
8,071,000& 8,071
0120l &AL 71,200 71,200 0
201 et 3| 1,500 1,500
01 At22t2l] 1,500 1,500
OUEoly AL HEE HIE
10,0002 *150H 1,500
307 lztol & 69,700 69,700
04 QIZHHAMAMH 2 & 69,700 69,700
O0el0le &AL 69,700
OHMI018] ool J18 H=0{elo] 2&X
60,000,000& 60,000
02023 B Oleloled 2&X
9,700,000 9,700
Cat SS4E £Xd X 140,000 350,000 210,000
= 100,000
== 20,000
Al 20,000
401 Al HIZL S 0HYI 100,000 250,000 A150,000
= 60,000
=S 20,000
Al 20,000
01 AlZ28| 100,000 250,000 A150,000
otigHssdH ZXiHl
50,000,000 #2JH 2 100,000
= 60,000




SN OlSESD
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 20,000
Al 20,000
405 AtatE = 40,000 100,000 260,000
= 40,000
01 AL =S F=H 40,000 100,000 260,000
OUIEMESME JIXHHY|
20,000,000 *x2H 2~ 40,000
= 40,000
CHEH Ss4IE e1A4d] X3 1,121,480 573,568 547,912
= 560,740
S 280,370
Al 280,370
307 @I2t01 & 1,121,480 573,568 547,912
[ 560,740
= 280,370
Al 280,370
05 212+ =S 1,121,480 573,568 547,912
OUEMESHE rAHI(17942)
1,121,480,000& 1,121,480
[ 560,740
= 280,370
Al 280,370
Gl SS4IE 224 XId(=21) 188,000 38,400 149,600
[ 94,000
= 47,000
Al 47,000
307 el2to| & 188,000 38,400 149,600
= 94,000
& 47,000
Al 47,000
05 2IMRIE =3 188,000 38,400 149,600
otgNssSHE 2HI(179H2)
188,000,000 188,000
= 94,000
< 47,000
Al 47,000
CEINSSHE 2HAR HE XI&(2D) 44,482 0 44,482
= 22,241
< 11,121
Al 11,120
307 elztol & 44,482 0 44,482
= 22,241
== 1,121
Al 11,120




SN OlSESD
33: Ots e, 25
(s O == N DA Rl v EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 44,482 0 44,482
OltgHEsdH 2EAI2 HEXE 2|
(2942) 44,482,000& 44,482
= 22,241
< 11,121
Al 11,120
Cietnl SsdH 22 X 246,010 165,010 81,000
201 Ler=23 | 6.010 5,010 1,000
01 At2teltl 2,010 1,010 1,000
CER 70,00024+33] 210
OHZAl NASZEIAN Bl LLe
100,000 6 x32] 1,800
2 S52g4l 4,000 4,000 0
otigHNss4dH |2+
4,000,000 4,000
307 elztol & 240,000 160,000 80,000
05 212t =S 240,000 160,000 80,000
otUEN=sHE 2ZHI(12904)
20,000,000 * 1290 2 240,000
OlE=XAE =24 8,148,698 8,004,214 94,484
307 @I2t01 & 8,148,698 8,004,214 94,484
10 Al2ISTIAEEE2HIEX 8,148,698 8,064,214 94,484
Oots=XAlIE 23| 8,148,698
Os=s#E0lsd 24l
1,619,909,000& 1,619,909
O&E==012 24l 1,747,044,000 1,747,044
O&=dsEsa =34l
2,545,713,000& 2,545,713
Ol 24| 1,968,694,000& 1,968,694
Oslgitgldgd 24|
267,338,000 267,338
22S0ts 188 22X 1,551,070 1,619,211 31,859
= 620,428
= 465,321
Al 465,321
307 el2tol & 1,551,070 1,519,211 31,859
= 620,428
< 465,321
Al 465,321
10 Al SXAEEHE2EHI 22X 1,551,070 1,619,211 31,859
OREs0ts 188 29HI(13044)
1,551,070,000& 1,551,070
= 620,428
[ 465,321




SN OISESD
33: Ot s, 25
&l OtES=RDIEtES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 465,321
QESOE 88 22l =2 (SSH) 225,509 0 225,509
== 67,653
Al 157,856
307 212+01& 225,509 0 225,509
< 67,653
Al 157,856
10 Al SXAEEHE2EHI2x 225,509 0 225,509
OREs0ts I8 22l f52(S2H)
225,509,000 225,509
= 67,653
Al 157,85
SSHEIFE(OES) ¢l XA 8,500 8,500 0
307 21201 & 8,500 8,500
11 ARRIS XA E X 8,500 8,500
OOE& gl 500,000 % 179K 2 8,500
OlS=XIAIE dgdl X 18,000 18,200 A200
307 lztol & 18,000 18,200 A200
11 AMEISXAEEE 18,000 18,200 A200
OOtS=AAIL dLH(XH0tSHEH, 1ES
) 100, 0002 x2& *907H 2~ 18,000
Ols=XIAE Ols MEgststl 8,250 8,250
307 gl2to| & 8,250 8,250
1 AMEISXAIEEXS 8,250 8,250
OOtS=XAIE OtsHgs&hl 8,250
OOtS=AIE 1,000,000 #4942 4,000
O1Es 250,0003 %1704 2 4,250
HIBSAIEES AEHZAL 1,170 1,110 €0
201 er2 3| 1,170 1,110 60
01 At2teltl 1,170 1,110 60
OAlE= 2HZA BEE
390,000 3 1,170
ANEO0tSE LA X 48,420 48,420 0
== 14,526
Al 33,8%4
307 212+01& 48,420 48,420 0
< 14,526
Al 33,8%4
11 AMEISXAEEE 48,420 48,420 0
OAlE0ts DM XI&(237Y)
48,420,000& 48,420
= 14,526
Al 33,894




FA: Ol SES
33: Ots e, 25
(s O == N DA Rl v EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
fOIHEOISES 25,957 33,600 AT,643
= 7,787
Al 18,170
301 EtE N = 25,957 33,600 AT,643
= 7,787
Al 18,170
02 AR 2HHSFS(HAAS, XNLHE) 25,957 0 25,957
ORIIIIEOISES(NY) 25,957,000 25,957
s 7,787
Al 18,170
otseE XA %t 1,220,9% 1,393,334 A172,338
= 854,699
=S 109,889
Al 256,408
301 EtE NS 1,220,99% 1,393,334 A172,338
= 854,699
= 109,889
Al 256,408
01 Al EE A S (2 RNEXMR) 1,220,9% 1,393,334 A172,338
otigmtsa XIg(1,210)
1,220,99,000& 1,220,9%
= 854,699
= 109,889
Al 256,408
HE0ISESHI 27,000 54,000 227,000
= 18,900
= 2,430
Al 5,670
301 LEtE N = 27,000 54,000 A27,000
= 18,900
= 2,430
Al 5,670
01 Al EEABZ2(2REEMR) 27,000 54,000 27,000
OfIDI0ls HEES ME0ots25HI(6Y)
27,000,000 27,000
= 18,900
= 2,430
Al 5,670
otsEs+a| 6,000 6,000 0
= 4,200
S 540
Al 1,260
301 EtE NS 6,000 6,000 0




SN OlSESD
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,200
=S 540
Al 1,260
01 Al E2E AL S(FRDEXH) 6,000 6,000 0
OFI7I0tE JNEHE OIS BEDUHI(671F)
6,000,000 6,000
= 4,200
= 540
Al 1,260
Hd2IHE & dE0lsES| 132,000 0 132,000
= 92,400
= 11,880
Al 27,720
301 EtE NS 132,000 0 132,000
= 92,400
= 11,880
Al 27,720
01 Al EE A S (2 DEXR) 132,000 0 132,000
OT2IIERIE M20tsESHI(11Y)
1,000,000« 11E* 122 132,000
= 92,400
= 11,880
Al 21,720
2258=0ts MExE 1,248,000 727,200 520,800
= 998,400
= 74,880
Al 174,720
301 EtE N = 1,248,000 727,200 520,800
= 998,400
< 74,880
Al 174,720
01 A2 HSHS(RNEERTHE) 1,248,000 727,200 520,800
OE2SE20ts XE=E(2602)
400,000 *260F « 122 1,248,000
= 998,400
[ 74,880
Al 174,720
dAE0lS HEXA 35,600 35,600 0
= 24,920
[ 3,204
Al 7,476
307 glztol & 35,600 36,600 0
= 24,920
s 3,204




FA OtSES
33: Ot s, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,476
11 AMEISXAEEXS 35,600 36,600 0
OAH OIS NBIXIR(222)
35,600,000& 35,600
= 24,920
= 3,204
Al 7,476
2AHIE A 3,697 6,430 N2,733
Il 2,587
= 333
Al 7t
301 LEetE N = 3,697 6,430 N2,733
) 2,587
= 333
Al r
01 Al EEABZ2(2DEEMR) 3,697 6,430 N2, 733
LUK (2Y) 3,697,000& 3,697
Il 2,587
== 333
Al r
gLots d==gAH 427,200 325,800 101,400
Jl 299,040
< 38,448
Al 89,712
301 LEIE NS 427,200 325,800 101,400
Il 299,040
== 38,448
Al 89,712
01 Al 2E AL S(FREXM) 427,200 325,800 101,400
oYggots 2F+g XA(1788)
,000&*178EF 12 427,200
Jl 299,040
s 38,448
Al 89,712
Y=ot 2K 3,514 1,400 2,114
J| 2,460
=S 316
Al 738
301 EtE NS 3,514 1,400 2,114
Jl 2,460
= 316
Al 738
01 Al EE A S (2 RDEEA) 3,514 1,400 2,114
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SN OlSESD
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,080
Al 2,520
01 A2 HSHS(RNEERTH) 12,000 0 12,000
OYHaots 254l XA (1Y)
1,000,000 x1&* 12 12,000
= 8,400
< 1,080
Al 2,520
YA X EHSSE (MR M2 FE3) 266,136 261,401 4,735
308 AXIMS0IA 266,136 261,401 4,735
07 HXHH2LRES 266,136 261,401 4,735
OGN =29
266,136,000 266,136
HEAS XN EEH HRFS(RASHZE 2E3) 8,305 8,049 256
308 AtXIEHMSOIE 8,305 8,049 256
07 XA EE2 8,305 8,049 256
OJEAEXALYH HR=+(119)
8,305,000 8,305
Ots=¢ XIR(=1) 56,871,502 59,833,8% A2,962,354
= 45,497,202
< 3,412,283
Al 7,962,017
301 2P EN= 56,871,502 59,833,856 A2,962,354
= 45,497,202
=S 3,412,283
Al 7,962,017
01 Al E2E A S(FRDEXH) 56,871,502 59,833,8% A2,962,354
Oo0ts+¢ =04(47,6308)
56,871,502,000& 56,871,502
= 45,497,202
= 3,412,283
Al 7,962,017
OlSESARA(ZE) 7,014,280 5,781,925 1,232,355
301 22N = 2,988,000 2,740,500 247,500
02 MBI 2HHSFHS(HAANS, KLHE) 2,988,000 0 2,988,000
OOls=SA XA (LES)
8,000& *4, 150 ~90&! 2,988,000
307 elztol & 4,026,280 3,041,425 984,855
11 AMEISXAIEEXS 4,026,280 3,041,425 984,855
OOtSZAXA (XS 0tSHIE)
8,000& #2,000& 250! 4,000,000
OOtSsSARNA(NASIHE0LS)
8,000+ »365! 26,280
Ots24 EHAIA(EIIS) 3,154,000 5,065,400 A1,901,400




SN OlSESD
g Ot det, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,154,000
301 EtE NS 3,154,000 5,055,400 21,901,400
=S 3,154,000
02 ARSI 2EH 2GS (FHAAHS, NLWE) 3,154,000 0 3,154,000
Oots=Z4! SN (EIE)
8,0003 *4, 150H x5 3,154,000
= 3,154,000
OlssARdz 29 1,200 0 1,200
201 er23 | 1,200 1,200
01 At2teltl 1,200 1,200
OFFAOlsE4?d BH+E
100,000 6 »23] 1,200
ANEEAOlS S NHEXRA 500,000 400,000 100,000
301 EtE NS 500,000 400,000 100,000
02 NRI2HHSFS(HAAS, XNLHE) 500,000 0 500,000
OAIMEIA0IE S KBTS S(502)
500,000,000 500,000
KNS 0otsHE 249Hl K& 1,329,368 5,721,480 A4,392,112
s 664,684
== 332,342
Al 332,342
307 212+01™ 1,329,368 5,721,480 A4,392,112
= 664,684
S 332,342
Al 332,342
10 MEISXAEHE2EHIE2X 1,329,368 5,721,480 A4,392,112
OXYotsHE 224 X2
1,329,368,000& 1,329,368
[ 664,684
= 332,342
Al 332,342
AS0tSHE QlAdl XA 5,461,256 0 5,461,256
[ 2,730,628
= 1,365,314
Al 1,365,314
307 gl2to| & 5,461,256 0 5,461,256
[ 2,730,628
= 1,365,314
Al 1,365,314
10 Al SXAAEEHE 22X 5,461,256 0 5,461,256
OXS0otsHIE 1Al K&
5,461,256,000& 5,461,256
[ 2,730,628
= 1,365,314




SN OlSESD
33: Ot s, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 1,365,314
NSotsHE 2SN (2] FOHXR) 67,440 49,800 17,640
== 26,976
Al 40,464
307 212+01& 67,440 49,800 17,640
< 26,976
Al 40,464
10 Al SXAEEHE2EHI2x 67,440 49,800 17,640
OXISH0tsHIE 22Ul FILXIR (73H4)
67,440,000& 67,440
= 26,976
Al 40,464
XSotsdlE el2ddl RE2(SSH)XA 372,744 0 372,744
== 111,823
Al 260,921
307 212+01& 372,744 0 372,744
< 111,823
Al 260,921
10 Al SXAEEHE2EHI 22X 372,744 0 372,744
OXIAOISHE Q12 RE2(S2H) X
372,744,000 372,744
= 111,823
Al 260,921
Sdg XNH0tsdH I 157,920 148,800 9,120
[ 78,960
= 39,480
Al 39,480
307 elzto| & 167,920 148,800 9,120
[ 78,960
== 39,480
Al 39,480
10 Al SXAIEEHE2EHI2x 157,920 148,800 9,120
OS4+=HE NAOISHE ZIIXE
620,000& « 1404 2 x 122 104,160
= 52,080
& 26,040
Al 26,040
OER2Y XF0tsHE FIHA
320,000 x 1401 A% 123 53,760
[ 26,880
= 13,440
Al 13,440
NSOotSHE “2dl XA 14,600 0 14,600
307 el2to| & 14,600 14,600




SN OlSESD
g Ot det, 25
el OFsS=ADIg XY EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
11 AR ZXAIE 2 X 14,600 0 14,600
OTISOISHE Hettl X
100,000& #7300 223 14,600
NS 0tSHE stZoiddl XI& 70,000 80,000 10,000
[ 35,000
= 17,500
Al 17,500
402 SIZERHE0| M 70,000 80,000 210,000
= 35,000
= 17,500
Al 17,500
02 QI 2AIEE X (0IETHR) 70,000 80,000 10,000
ORI X (500 )
70,000,000& 70,000
= 35,000
= 17,500
Al 17,500
KNS 0otsdE A~ 23 3,700 3,700 0
201 L2 3,700 3,700
01 AtR2telbl 3,700 3,700
OFFAXGOtSHEI?E2 &+
100,000 8 +22 1,600
OXH0lsHE dE82 233 F&+E
100,000& »7 32 2,100
XH0otsHE S ULE2EX] 9,700 9,700 0
307 212to1d 9,700 9,700
04 QIFEHAMAIE B2 9,700 9,700
OXY0lsHH YLE2EX
9,700,000& 9,700
KSotsdE HBAAl 4,850 4,850
307 212+01™ 4,850 4,850
04 CIZHHAIAIS E & 4,850 4,850
OXIS0otsHE ZASHAIS
4,850,000 4,850
KNS 0tSHE SAHL Hx=XI& 4,850 4,850
307 212t01™ 4,850 4,850
04 QIRHFHAIAIHE B = 4,850 4,850
OXISOtSHIE SALA H=XI1&
4,850,000 4,850
stiiuloiots &H X 363,600 0 363,600
= 145,440
< 65,448
Al 152,712
201 LBt 5,000 0 5,000




SN OlSESD
33: Ot s, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,000
=S 900
Al 2,100
01 AlR22IH| 5,000 0 5,000
OSIIHOISHE 28 7
5,000,000 5,000
= 2,000
= 900
Al 2,100
401 AIEHIZ SR OHYI 258,600 0 258,600
= 103,440
= 46,548
Al 108,612
01 AlZ2H| 258,600 0 258,600
OSIHHLIGHOtSHE EXI(1H4)
258,600,000 258,600
= 103,440
= 46,548
Al 108,612
405 AtatE = 50,000 0 50,000
= 20,000
= 9,000
Al 21,000
01 ML ESFSHI 50,000 0 50,000
OsStiUloiotsa e IR
50,000,000 50,000
= 20,000
= 9,000
Al 21,000
406 JIEFAHZ01E 50,000 0 50,000
= 20,000
= 9,000
Al 21,000
01 JIetAt=01d 50,000 0 50,000
OstiulciotsdH gXES3
50,000,000 50,000
= 20,000
= 9,000
Al 21,000
stiiuloiotsas 29 1,068,019 918,216 149,803
= 426,924
= 192,118
Al 448,977
307 el2tol & 1,067,319 918,216 149,103




SN OlSESD
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 426,924
=S 192,118
Al 448,217
10 Al SXAEEE 22X 1,067,319 0 1,067,319
Ostiiulshots&EH 28I(50H )
1,067,319,000& 1,067,319
= 426,924
= 192,118
Al 448,217
406 JIEFAIZ01E 700 700
01 JIEtAH=201A 700 700
OStHIIoHOtSEHE SUESS (1)
700,000 700
OlsSHH AL SB3AS 26,620 42,228 /15,608
201 er23| 26,200 31,628 Ab,428
01 At2teltl 19,460 22,568 A3,108
OOtsESE <ot flda € JI& UERA
29 18,000
ORiBs BasT
100,0002 x102 * 142 14,000
OX2+g 100,000& x5 & *42] 2,000
Os2== M 5,000& *400H 2,000
OOtssil of5XAd & &2 UIld 288 1,460
Ogt=2HI(RES, )| SXg 8)
1,460,000 1,460
2 35244l 6,740 9,060 2,320
03323 % MAI(HIIX) 6,740
OXSXEE 1,000,000 *2CH 2,000
OXr& = AIbl 350,000 +2CH 700
OXIS XA 130,000 *2CH 260
OFUdEsl AIZE 45,0002 #7CH* 122 3,780
301 LEtE NS 420 600 A180
11 dAMEEIXIE S 420 600 A180
OOtSESE flet ?lda & UEHT 29 420
O3l9] A 2tAI
3,0003 %108 x 143 420
OLSSITHOIZ ALY =&IH| 19,000 17,000 2,000
201 2= 19,000 17,000 2,000
01 At22t2lt] 19,000 17,000 2,000
OOISSTHUZALY =&IH| 19,000
O8=2cEA & 1,000& *2,000% 2,000
O82=3 M 5,000& *2,000H 10,000
OZelHioe Fazil
1,750,000 x4 2 7,000




FA OtSES
M Ol det, 25
el OFsS=ADIg XY EER=E)
M- B SRASH) - HRAR - B2 of v e HIDE2
SESHERP SHA(AIHI) 65,000 57,000 8,000
= 52,000
== 3,900
Al 9,100
201 =3 24,280 24,760 A480
= 19,424
=S 1,457
Al 3,39
01 At 22|l 17,260 19,960 A2,700
OAMdZ2EARZ BN+
100,000 68 * 123 6,000
= 4,800
= 360
Al 840
OARNZIt N2
100,000 3 +53] 1,500
= 1,200
=S 0
Al 210
O0ls23AMblA EE2ES MA
10,0002 «200H 2,000
= 1,600
== 120
Al 280
OES0ts HHasS 2 X2l
20,0002 »202|+8H 3,200
= 2,560
== 192
Al 448
OO0 2 AL US|
300,000 %13 3,900
= 3,120
[ 234
Al 546
O =5 MX 44,0002+ 15% 660
= 528
< 40
Al 2
02 S5=2g4l 7,020 4,800 2,220
OgFE Ul AE=
45,0002 «13CH* 123 7,020
= 5,616
< 421
Al 983
301 EtE N = 14,370 240 14,130




FA OtSES
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 11,4%
=S 862
Al 2,012
01 Al E2E AL S(FRDEXH) 13,920 0 13,920
LAIESH] 30,0003 0 =22 5,400
= 4,320
= 324
Al 756
O2EHNIE 28 7o
1,530,000 42 6.120
= 4,8%
= 367
Al 857
OAMHIA HA & X2
300,000 +8& 2,400
= 1,920
=S 144
Al 336
11 AALAEIXIE S 450 240 210
O3|2] FAX Chitdl
5,000& x5& 102 250
= 200
== 15
Al 35
032 HFAX a4l
20,0003 *5&+23] 200
= 160
== 12
Al 28
307 glztol & 23,850 30,500 26,650
= 19,080
== 1,431
Al 3,339
01 22X 2| 23,850 30,500 26,650
2Sl40ls dZ8d & oS At
375,000& 30 11,250
= 9,000
== 675
Al 1,575
OEsSH&0ts aclazH]
70,0002 x17H* 102 11,900
= 9,520
== 714
Al 1,666
OL2saots 2 =] 70,0002 %10 700




SN OlSESD
33: Ot s, 25
(s O == N DA Rl v EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 560
=S 42
Al 98
405 KHaHE SH 2,500 1,500 1,000
= 2,000
= 150
Al 350
01 TR ESFISHI 2,500 1,500 1,000
ogRE Fids 7Y 500,000 +5CH 2,500
= 2,000
= 150
Al 350
OISESdEI2 2 (AXHMLRE3) 428,775 354,739 74,036
308 AtXIEHMSOIE 428,775 354,739 74,036
07 XA EE2 428,775 364,739 74,036
olts2sdzI12 29
428,775,000 428,775
OISE3dEI12 HR*E(MXHHARSS) 29,064 29,232 168
308 XXM SOIA 29,064 29,232 2168
07 XL FE= 29,064 29,232 A168
OOtsESHEI I e+ (23Y)
29,064,0002! 29,064
OIEESESI|Z HEALIME R (XX 31,574 0 31,574
)
308 AtXIEHMSOIE 31,574 31,574
07 XSS 31,574 31,574
OOts2sdEJ2 HE4eldH X
31,574,000& 31,574
FAHE OlSSEAHIA XIS 344,298 369,924 N25,626
= 267,490
< 20,062
Al 56,746
101 e124d| 34,798 53,024 A18,226
= 19,890
=S 1,492
Al 13,416
04 JIZtN2Z2 XS E+ 34,798 53,024 N18,226
OOtSSEALHIZICIAL J12FHI QIAHI (1)
34,798,000 34,798
= 19,890
=S 1,492
Al 13,416
201 =3 256,909 256,338 571
= 205,529




A OtsEsH
M Otz &, B8]
&2l OtE=RDIet Y (CH9: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 15,415
Al 35,965
01 A2l 60,368 69,748 9,380
OMNREE(HIB)2YY)
400,000 * 123 4,800
s 3,840
= 288
Al 672
o=+l 250,0002x 12 3,000
s 2,400
= 180
Al 420
0017 U VEEEAl XA
200,0002 123 2,400
s 1,920
= 144
Al 336
O=EXMI & EE2E M
10,000 *2, 50004 25,000
s 20,000
T 1,500
Al 3,500
O M 50,0002 * 1294 600
s 480
= 36
Al 84
Ox#IHHId &
150,000 *3H 43 1,800
s 1,440
& 108
Al 252
O#HHld ItE2 & |10z
12,0003 *12H x3H 43| 1,728
s 1,382
& 103
Al 243
o2 =< 150,000& *9H 13 1,350
s 1,080
& 81
Al 189
OARHYIE &Y
100,000 *10E 43| 4,000
s 3,200
& 240
Al 560




FA OtSES Lo
ziij; 8@&%&%@3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o =
pEESEE e _\E:l%tuil%,OOO%*Q%'%%'ﬂZ% 4,320
= 3,456
[ 260
Al 604
OCSHYAEE M2 uSH(ASNS)
400,000 »9H 3,600
= 2,880
< 216
Al 504
O=EHARE AMEELUE ot
300,000 6 1,800
[ 1,440
== 108
Al 252
OEEAEE #MHHIO0IN 2HPxE
200,000 «2H = 12& 4,800
[ 3,840
= 288
Al 672
OLEAEE LIS 130,000 0 1,170
[ 936
= 70
Al 164
02 S3=gHl 13,462 13,390 72
OSEHAAIAE S X 22|
1,222,0002 %12 1,222
[ ar7
= 74
Al 171
oZsitg 7l 900,000 *3CH 2,700
[ 2,160
= 162
Al 378
ONESAEE 1,200,000 *3CH 3,600
[ 2,880
= 216
Al 504
OXSIM(EANERYZ 28
200,000 *3CH 600
[ 480
S 36
Al 84
=il 22
pasns EEd 1,350 »60L*2CH *302] 4,860




FA: Ol SES
M Ol det, 25
(s O == N DA Rl v (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 3,890
S 292
Al 678
oS HIIBEY
5,000 82l * 123 480
s 384
s 29
Al 67
03 A2 I 183,079 173,200 9,879
OCEAEIE Z203 29
183,079,000 183,079
= 146,464
== 10,984
Al 25,631
202 04l 5,520 7,590 2,070
= 4,416
== 331
Al 773
01 =LHOLI 5,520 7,590 2,070
OTRIAEIEAIY ®20l2 20|
30,0009 * 122 3,240
s 2,592
== 194
Al 454
OSHYAEIEANY HRSEDS Oyl
380,000 +6Y 2,280
= 1,824
== 137
Al 319
301 EtE NS 5,071 10,972 25,901
= 4,09
== 304
Al 712
11 HAIMHIXI RS 5,07 10,972 25,901
OXESAL S22l
11,0002 100 1,100
s 880
== 66
Al 154
onzd & HAIEHA A
8,000& x300H 2,400
= 1,920
== 144
Al 336




M OISESH
M Ol det, 25 _—
el OFsS=ADIg XY EEREE
@EE =24
SA - Y- GRA(B) - HRAY - BES Ol & S HIRS
oz & HMAFOA 24|
3,000 +300& 900
= 720
[ 54
Al 126
O#IHHI& J2AFA A S4H|
8,000 x32 *43] %
= 76
[ 6
Al 14
o2 3FgAT SAHI
8,000+ *13] 72
z 57
= 4
Al 1
oA 3yFAT SAHI
8,0002 x102H *43] 320
z 256
< 19
Al 45
O=HBIE 3AFA X} 2HAH
3,000 x3H *43] K3
z 29
< 2
Al 5
O2LAAS| 3FA X 2HA]
3,000 x9 *13] 27
z 21
< 2
Al 4
OARY IIoFAIL 2HAlH|
3,000& *10& =43] 120
= %
< 7
Al 17
307 2IZto1 42,000 42,000 0
z 33,600
< 2,520
Al 5,880
01 222 FZH 42,000 42,000 0
o|ZHl, MG, LM XN S
° 42,000,000& 42,000
z 33,600
< 2,520
Al 5,880




SN OlSESD
33: Ots e, 25
el OFsS=ADIg XY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
orssX2 24 X 314,667 318,852 A4,185
307 elztol & 314,667 313,152 1,515
05 2IHRIE S 314,667 313,152 1,515
OO0ts= A2 212H|
3,100,846 x4H«12E 149,273
OO0ts=A2 234l 6,791, 7253 128 81,501
OOIS=XIZ Areit]
6,453,307 2« 132 1M 83,893
2=F9 334 &% 258,631,755 231,688,806 26,942,949
= 134,500,352
< 88,478,548
Al 35,652,855
2250 (gotg) X 47,247,861 10,273,409 36,974,452
= 35,435,8%
=S 8,268,376
Al 3,543,590
301 EtE NS 47,247,861 10,273,409 36,974,452
= 35,435,895
= 8,268,376
Al 3,543,590
01 Al EE AT S (2 RDEEMA) 47,247,861 10,273,409 36,974,452
O=R2=0(Z0ot=<) XA (10,7759)
47,247,861,000& 47,247,861
= 35,435,895
= 8,268,376
Al 3,543,590
dR0tE2=2 N (ZD) 82,972,684 84,243,507 1,270,823
= 62,229,513
= 14,520,220
Al 6,222,951
301 LEetE N = 82,972,684 84,243,507 1,270,823
= 62,229,513
== 14,520,220
Al 6,222,951
01 A2 HSFS(RNEERTHE) 82,972,684 84,243,507 1,270,823
OYROIEZFES XA (11,105%)
82,972,684,000& 82,972,684
= 62,229,513
S 14,520,220
Al 6,222,951
FoltE 2ERR(ZH]) 44,019,476 49,113,351 A5,093,875
= 44,019,476
301 LELEE S 356,529,596 40,156,800 N4,627,204
& 35,529,596




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 35,529,596 0 35,529,596
02|88 % XIHAHI(10,9148/0tE 10,1072,
WA 807¢H)) 35,529,5%, 000 35,529,596
= 35,529,596
307 21201 & 8,489,880 8,956,551 466,671
= 8,489,880
11 MBI = XA 2 E 8,489,880 8,956,551 /466,671
OF2ITE 2G| (10,107Z)
8,489,880,000& 8,489,880
< 8,489,880
g B2 XNA(ZHl) 7,000 7,000 0
== 5,600
Al 1,400
301 22N = 7,000 7,000 0
< 5,600
Al 1,400
02 AR 2EH LGS (HAAS, NLEWE) 7,000 0 7,000
ogns 2= X (5%) 7,000,000& 7,000
= 5,600
Al 1,400
Helold 2=z X (AHA) 6,310,428 5,513,256 797,172
308 AtXIEMISOIE 6,310,428 5,513,256 797,172
11 S| 2SO0 UeZ XA AIE 6,310,428 5,513,256 797,172
O3M 258 XX
93,0002 *2, 2208« 122 2,487,564
O4-5H EF8 XU
73,0002 %4, 364 122 3,822,864
Oielold DloISotSS=AI 4,235,377 11,676,587 AT,441,210
= 3,176,534
< 741,190
Al 317,653
301 EtE NS 4,236,377 11,676,587 AT,441,210
= 3,176,534
== 741,190
Al 317,653
01 Al 2E A S(SREEME) 4,235,377 11,676,587 AT,441,210
OJIE 2s+4(6,5082) 4,235,377,000& 4,235,377
= 3,176,534
=S 741,190
Al 317,653
SR 1A X (21) 31,045,001 28,821,969 2,223,032
= 18,627,000
= 8,692,601
Al 3,725,400




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 342,000 313,200 28,800
= 205,200
== 95,760
Al 41,040
01 AR 2EHSHS(RNEXRTHE) 342,000 313,200 28,800
OHMAR0F ZRKDAF L SHWAF 2
300,000 x05EH « 12 342,000
= 205,200
== 95,760
Al 41,040
307 lztol & 30,703,001 28,508,769 2,194,232
= 18,421,800
== 8,596,841
Al 3,684,360
11 AMRISXAEEES 30,703,001 28,508,769 2,194,232
OOI&I0IE SAHKH lA4H| XI&(1,4528)
30,703,001,000& 30,703,001
= 18,421,800
s 8,596,841
Al 3,684,360
SR IAHH| X2 (XHA) 46,532 46,080 452
307 elztol & 46,532 46,080 452
11 AMEISXAEEES 46,532 46,080 452
O24A2tAE0IE =l lAH(FL=2Y)
1,938,800 x1&* 1 A 123 23,266
O2AARIARI0IE =2|& IHHI(F20I2Y)
969,400 1+ -+ 122 23,266
A LAF XI&(=2) 2,130,792 2,123,258 7,534
= 1,278,475
= 596,622
Al 255,695
307 @20l & 2,130,792 2,123,258 7,534
= 1,278,475
= 596,622
Al 255,695
11 AMEISXAIEEXS 2,130,792 2,123,258 7,534
O M AL X2 (602) 2,130,792,000& 2,130,792
= 1,278,475
& 536,622
Al 255,695
0121018 2EX WAL XI& 11,500,000 10,983,455 516,545
= 6,900,000
< 3,220,000
Al 1,380,000




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 11,500,000 10,983,455 516,545
= 6,900,000
== 3,220,000
Al 1,380,000
11 AMEISXAEEES 11,500,000 10,983,455 516,545
EZWAH389Y), HFWAH481Y)
11,500,000,000& 11,500,000
= 6,900,000
== 3,220,000
Al 1,380,000
WAIZRSZI Al X 7,715,000 7,072,615 642,385
= 4,629,000
== 2,160,200
Al 925,800
301 22N = 7,715,000 7,072,615 642,385
= 4,629,000
S 2,160,200
Al 925,800
01 Al EE A S(FRDEXA) 7,715,000 7,072,615 642,385
OZ At & HAZESTH WAL =2 (3,128H
) 7,715,000,000& 7,715,000
= 4,629,000
= 2,160,200
Al 925,800
SEE|uUAM SEIRSH(I 1) 1,355,000 1,492,707 A137,707
= 813,000
= 379,400
Al 162,600
301 EtE2 NS 1,355,000 1,492,707 A137,707
= 813,000
= 379,400
Al 162,600
01 Al EE AT Z(2DEXR) 1,355,000 1,492,707 137,707
OsSEESUA SE22+E(1,0068)
1,355,000,000& 1,355,000
= 813,000
= 379,400
Al 162,600
S FI25FSXE (=) 392,010 451,800 A5, 790
= 117,603
Al 274,407
301 EetE NS 392,010 451,800 A59,790
== 117,603
Al 274,407




SN OISES3
B2 OIS #3, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 NS EHAG2(HAHS, L) 392,010 0 392,010
OBSLH FII2H2S(1,0008)
392,010,0002! 392,010
= 117,603
Al 274,407
s HeNa K (TH) 3,560,523 3,972,800 ~42,2T7
= 1,420,209
Al 2,130,314
301 YerEFI 3,560,523 3,972,800 NG2,2T7
= 1,420,209
Al 2,130,314
02 AR EHAG2(HAHS, L) 3,550,523 0 3,560,523
OFSDNE HPHAHI(3,288%)
3,550,523, 000 3,560,523
= 1,420,209
Al 2,130,314
SSDA HSIHEE S TR (XHH) 4,158,000 4,431,600 273,600
301 YErEEI 4,158,000 4,431,600 273,600
2 NEIBEHATI2 (S, N 4,158,000 0 4,158,000
FSDAF HPMUH (SERSDA S22
Sag XAHA)
60,00024+1,0502* 122 756,000
OESWA MM (SEESDA SE2
245 DINALA)
90,0009!+3, 15024 * 122 3,402,000
SSDH AAIZRg X (=) 827,257 961,440 A134,183
= 248,177
Al 579,080
301 Ler2FI 827,257 91,440 A134,183
= 218,177
Al 579,080
2 NEIBEHATI2 (S, N 827,257 0 827,257
OBSLH AIAADLHL(3,47)
827,257 0002 827,257
= 218,177
Al 579,080
OI2I01& OOl = (2]) S20| X™(SHI) 950,304 90,240 20,064
= 285,001
Al 665,213
307 BI240IH 950,304 90,240 20,064
= 285,001
Al 665,213
11 ABI=TIA B E 950,304 90,240 20,064
©010/2=(28) =20 (7604)
950,304,002 950,304




SN OlSESD
33: Ot e, 25
e 252 354 A (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 285,091
Al 665,213
WD X&(22) 356,667 331,333 25,334
= 214,000
< 99,867
Al 42,800
307 lztol & 366,667 331,333 25,334
= 214,000
== 99,867
Al 42,800
11 AMRISXAEEES 356,667 331,333 25,334
OWHW THI (39770 A) 356,667,000 356,667
= 214,000
=S 99,867
Al 42,800
gl N(=1) 383,333 409,078 N25,745
= 230,000
= 107,333
Al 46,000
307 @I2t01 & 383,333 409,078 N25,745
= 230,000
= 107,333
Al 46,000
1 AMEISXAIEEXS 383,333 409,078 N25,745
OXtzr=228(191CH) 383,333,000& 383,333
= 230,000
= 107,333
Al 46,000
ZOHOIA 2 Olgl0ld 2™ A IHHI(ZHI) 9%,528 91,920 4,608
= 48,264
Al 48,264
307 @I2t01 & 96,528 91,920 4,608
== 48,264
Al 48,264
11 AMRISXAEEES 96,528 91,920 4,608
OZ OO 20018 23 2124H|
2,011,000& ~4 2+ 12 96,528
= 48,264
Al 48,264
SY gol oelold XME=2d X 62,400 52,800 9,600
S 24,960
Al 37,440
307 @120l & 62,400 52,800 9,600




SN OlSESD
33: Ot e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 24,960
Al 37,440
11 AMEISXAEEES 62,400 52,800 9,600
OSY 8ol oelold E2d X
400,000& * 134 A x 12 62,400
= 24,960
Al 37,440
SHEATHE AR 0IEXA(21) 80,000 80,078 AT8
= 48,000
= 22,400
Al 9,600
307 el2to| & 80,000 80,078 NT8
= 48,000
= 22,400
Al 9,600
1 AMEISXAEEXS 80,000 80,078 AT8
OsHEAM A0 X2 (2994 4)
80,000,000 80,000
= 48,000
S 22,400
Al 9,600
s S FANSG Ex0A3 28| X 267,688 0 267,688
= 107,075
Al 160,613
307 @I2t01 & 267,688 0 267,688
s 107,075
Al 160,613
11 ARRIS XA E X 267,688 0 267,688
OF 2 SH HNH0lE 1l XI& (23H
&) 267,688,000 267,688
< 107,075
Al 160,613
OEl0IE FHAHR elH| IR (XHA) 775,200 480,000 295,200
307 el2tol & 775,200 480,000 295,200
1 AMEISXAIEES 775,200 480,000 295,200
OG0l FAE 21|
200,0002 323 2= x 12 775,200
CHAMIZel R (FAFR) XIS (KA 159,160 139,200 19,960
307 212+01™ 159,160 139,200 19,960
11 AMRISXAEEES 159,160 139,200 19,960
OHM=2I& (HAR) XI&(6)
159, 160,000 159,160
O2lold tiM=elg XI&(=Hl) 145,428 0 145,428
= 58,171




A OlsESH
Jm: ofs g, 2S
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 87,257
307 QI2H0I & 145,428 0 145,428
= 58,171
Al 87,257
11 AISIEXAIL 2 X 145,428 0 145,428
OZI0IE CHHZale XI|(1,634%)
145,428,000 145,428
= 58,171
Al 87,257
Ol2I0IE oA BHE ZHE X 59,628 62,850 3,222
== 23,851
Al 3,777
307 QI2H0I & 59,628 62,850 3,222
= 23,851
Al 35,777
11 AFBISTAG 2 X 59,628 62,850 3,222
OORI0IY OHABRIZ BHIZ(23,851%)
59,628,0002 59,628
[ 23,851
Al 35,777
O&l0l& 2II¥EI| 2ZHl X2 (<Hl) 362,644 504,504 A141,860
== 72,529
Al 290,115
307 QI2H0I & 362,644 504,504 A 141,860
= 72,529
Al 290, 115
11 AFBISTAG 2 X 362,644 504,504 A 141,860
OORI0IY 3IIHFI| 2HI(3,8220H)
362,644,000 362,644
= 72,529
Al 290,115
OIRI01Y SO0IAE HEEASS2 XIR (XHH) 15,000 16,500 1,500
307 RI2t0I A 15,000 16,500 1,500
11 AFBI S XA 2 X 15,000 16,500 1,500
OORI0IE =0IAL HREALSR
300, 0002 *500H 2 15,000
ARIHIES XI”(=2) 683,000 842,908 A154,908
=2 344,000
== 172,000
Al 172,000
307 QI2H0| & 688,000 842,908 A 154,908
= 344,000
= 172,000
Al 172,000
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SN OlSESD
33: Ot e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,000
Al 15,000
307 lztol & 30,000 26,000 4,000
= 15,000
Al 15,000
11 AMEISXAIEEXS 30,000 26,000 4,000
OHE =AY X 30,000,000& 30,000
= 15,000
Al 15,000
HFASOIESERNFLH 2S(RHAI) 610,112 524,060 86,052
307 @I2t01 & 610,112 524,060 86,052
05 2IR”tRIE = 610,112 524,060 86,052
OFFAISOISEX2HEH 2E
610,112,000 610,112
Olgloly 22 2UEYH 29(31) 34,492 41,840 AT,348
= 17,246
< 8,623
Al 8,623
307 elztol & 34,492 41,840 AT,348
= 17,246
s 8,623
Al 8,623
1 AR SXAIEE X 34,492 41,840 AT,348
ORZIZLIHEH 23 34,492,000 34,492
= 17,246
= 8,623
Al 8,623
FHZUHAHAE 2S(XHA) 316,375 301,375 15,000
201 =3 21,375 21,375 0
01 At22t2lt] 21,375 21,375 0
O PR, A5, LiE)
7,125,000 *39H 2 21,375
307 elzto| & 295,000 280,000 15,000
05 2I2tRIE S 295,000 280,000 15,000
OYHZBUNHLH 23
147,500,000 #2900 2 295,000
Oeloly JIsE2(=21) 246,404 76,000 170,404
= 123,202
= 61,601
Al 61,601
402 I2FX=01 & 246,404 76,000 170,404
= 123,202
= 61,601




SN OlSESD
33: Ots e, 25
e 252 354 A (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 61,601
02 QI XHE AL E R (01X THE) 246,404 76,000 170,404
OBM=E 184,404,000 * 11 2 184,404
= 92,202
= 46,101
Al 46,101
OME= 30,000,000 »2JH 2~ 60,000
= 30,000
= 15,000
Al 15,000
(©Fulls] 2,000,000 * 10 2= 2,000
= 1,000
= 500
Al 500
U0l IHE=Ar (XA 90,000 90,000 0
402 2IZtA=01d 90,000 90,000
01 QI XHE AL E R (KM THE) 90,000 90,000
OG0l JIs2d
30,000,000 %34 2 90,000
02l0ld ESA 868,974 480,000 388,974
= 434,487
=S 217,244
Al 217,243
201 et 3| 16,500 22,000 A5,500
= 8,250
= 4,125
Al 4,125
01 AtR2te|HI 16,500 22,000 25,500
Ot =388 oelolzss2t &l
A =38 800,000 304 A 2,400
= 1,200
= 600
Al 600
OZRHOIMATY
700,000 304 A 2,100
= 1,050
= 525
Al 525
(ORI g == pagel 2,000,000 *37H 2= 6,000
= 3,000
= 1,500
Al 1,500
Ouu-H+ 2,000,000 *37H 2= 6,000
= 3,000




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,500
Al 1,500
401 AlEHIZ 2 0HbI 213,500 368,000 144,500
= 106,750
< 53,375
Al 53,375
01 Al&H| 213,500 358,000 A144,500
Ot =sE0oelold £X
79,500,000 #20H 2 159,000
= 79,500
[ 39,7850
Al 39,750
Ot =EE0el0ld &X
54,500,000 * 100 2 54,500
= 27,250
< 13,625
Al 13,625
402 2I2F X201 & 563,974 0 563,974
= 281,987
< 140,994
Al 140,993
02 QIZEXHZ AL E X (01X TH & 563,974 0 563,974
OHOHOIEZ Oelold A=
563,974,000 * 100 2 563,974
= 281,987
[ 140,994
Al 140,993
405 AHatE = 75,000 100,000 /25,000
= 37,500
[ 18,750
Al 18,750
01 AL =S F=HI 75,000 100,000 £25,000
Ot =SE0e0ld JIXHHYI
25,000,000 #30H £ 75,000
= 37,500
< 18,750
Al 18,750
S3E0201E JIs2d K& 33,000 36,000 23,000
307 glztol & 33,000 36,000 23,000
11 AMEISXAIEEE 33,000 36,000 A3,000
O3380goly JIs:ed
3,000,000 1190 £ 33,000
B30 SSXN(HEAY 3,129,619 3,156,161 26,542
s 2,754,065




SN OlSESD
33: Ot e, 25
e 252 354 A (cte: A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 375,554
307 gl2tol & 3,129,619 3,156, 161 N26,542
=S 2,754,065
Al 375,554
11 ARRIS XA E X 3,129,619 3,156,161 N26,542
OZ3ZEOUEI0IE 2F(720HA)
3, 129,619,000 3,129,619
< 2,754,065
Al 375,554
SBEN0IE SZMEH! X (=H]) 27,000 16,500 10,500
= 10,800
Al 16,200
307 @20l & 27,000 16,500 10,500
=S 10,800
Al 16,200
11 AMISXAIEEX 27,000 16,500 10,500
(OFE= G SRS ISPl Fala]
3,000,000 *9IH 2= 27,000
< 10,800
Al 16,200
SSE0i2loly 28l N2 (XHH) 124,236 153,720 29,484
307 elzto| & 124,236 183,720 N29,484
11 AMEISXAEEXS 124,236 183,720 A29,484
O33&80el0ld Fotet 28| A&
7,0002%1,4798 122 124,236
S30{2018 2SXIA(XHA) 187,000 181,000 6,000
307 21201 & 187,000 181,000 6,000
11 ARRIS XA E X 187,000 181,000 6,000
O330{2l018 =AYl X
1,000,000 1874 2= 187,000
T 2o (B AZAEE) 012101 2| XIA( 185,100 210,300 125,200
XHAl)
307 elztol & 185,100 210,300 N25,200
11 AMEISXAIEEXS 185,100 210,300 N25,200
O0RIHE 020l dtetd| X3
100,000 13504 2= +6& 81,000
O24A12t0121018 ] K&
150,000 *3)4 A6 2,700
O24AI 2t l01 Y OFIESF WAL SAH| X2
16,0002 11 *252 « 12 52,800
O24A2+012I01E ORFES WAL Q12AH| X1
450,000 0 122 48,600
Al ZIoRI0IE KR (XEA) 80,000 80,000
307 @I2t01 & 80,000 80,000
1 AR SXAIEE X 80,000 80,000




SN OlSESD
33: Ots e, 25
el 259 334 &8t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04l HRI0RI01E XIe
2,000,000 *400H 2 80,000
Olglold detetsl X2 (XHA) 283,100 249,400 33,700
307 gl2to| & 283,100 249,400 33,700
1 AMISXAIEEXS 283,100 249,400 33,700
OO0{2l0IE Hiterd| (202! 015t
400,000 #3074 2=+ 13 122,800
O0gloly &t (992l 016t)
500,000 *26971 2=+ 13 134,500
OO0ZI0IE HtetHI(1002) 014f)
600, 0002 *430 A-*13] 25,800
Zoots 23tMEHl XI& (XEH) 36,000 37,000 21,000
307 @I2t0| & 36,000 37,000 21,000
11 AMISXAIEEX 36,000 37,000 21,000
OHOOIE 23IHIEHI(5H4)
200,000 *180 36,000
AH2IBHI(OtSES) 2,502,273 2,063,339 438,934
= 339,040
s 921,612
s 372,762
Al 868,859
el 23 2,410,861 1,980,919 429,942
= 339,040
= 921,612
S 372,762
Al 777,447
OlSSXI WAL THAXIR (KA S XA 99,095 89,639 9,45
= 28,812
< 14,406
Al 55,877
101 e124d| 89,735 79,303 10,432
= 24,132
=S 12,066
Al 53,537
03 SR (RIH )22+ 89,735 79,303 10,432
OXIGALZIZXIAL B=(29)
89,735,000 89,735
= 24,132
=S 12,066
Al 53,537
WM HsEE=S 9,360 8,736 624
= 4,680
S 2,340
Al 2,340




FA OS2
T BH2YAM(0ISBRD)
=9 elmEet| (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
4 R (RIHA)22N BEESRES S 9,360 2,362 6,998
OXS ARSI 282 J|2AFES
9,360,000& 9,360
= 4,680
< 2,340
Al 2,340
OlSSXI WAL DHAXIR (HLH/SAIRE) 1,349,557 1,266,511 83,046
= 625,810
[ 312,904
Al 410,843
101 @124H| 1,262,415 1,185,003 77,412
s 618,970
== 309,484
Al 333,961
03 SR (RIH )22 U2+ 1,262,415 1,185,003 77,412
OOFSZXI WAHFLT/SAIZY) 24=(572)
1,262,415,000& 1,262,415
s 618,970
s 309,484
Al 333,961
04 HSRESS 87,142 62,308 24,834
= 6,840
=S 3,420
Al 76,882
M BRA(RIHS) 22N BEEE2RE=s S 87,142 15,469 71,673
OOIS=XWAHTLHI/SAIZY) 282 Il
fE= 87,142,000 87,142
= 6,840
=S 3,420
Al 76,882
FHANE OlsSEMHIA X (RIHAZZ2IY) 524,107 369,569 154,538
= 266,990
S 20,024
Al 237,093
101 21AH| 490,818 334,355 156,463
[ 240,359
= 18,027
Al 232,432
03 SR (RIH )22 U2+ 490,818 334,355 156,463
OOFSEEIARIZRIAL Q1218
490,818,000 490,818
[ 240,359
= 18,027
Al 232,432




SN OS2SR
M HARAZH|(OtSESDH)
chol: ol (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
04 HSRESS 33,289 28,814 4,475
= 26,631
== 1,997
Al 4,661
04 SRA(RIH )22 SE2RLYS S 33,289 0 33,289
OSRA(RIAHN)22X BEE IR
= 33,289,000 33,289
= 26,631
== 1,997
Al 4,661
Ol=ESdERR 214d| X (LIIH) 423,800 255,200 168,600
= 339,040
== 25,428
Al 59,332
101 e/24d| 395,817 238,820 156,997
= 316,653
s 23,751
Al 55,413
02 JIet& 2= 395,817 238,820 156,997
oJlzs 2,095,000 «8F « 122 201,120
= 160,89%
= 12,067
Al 28,157
oJlzs 1,793,830 x5~ 128 107,630
= 86,104
= 6,458
Al 15,068
=g 271,726
OJHEd=E 6,000
BN} 40,0002 62~ 123 2,880
= 2,304
== 173
Al 403
LU PE 20,0003 x4 * 122 960
= 768
s 58
Al 134
a=LUPE 60,0002 3 * 122 2,160
= 1,728
s 130
Al 302
OAlteI 22+ 6,037,879 6,038
= 4,830




2A:
X XH -
o e

=aak

o
JE 02 0l
M0 HO HT
02 02 H0
oy &
==
)
O
HT
30
&

==
o
0
f
{0

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

H

363

OS4XP4g 100, 5602 1324 * 1224 15,688
12,550

942
2.1%
O AT A 140, 0002 1324 * 122 21,840
17,472
1,310
3,058
O IIE A 7,196+ 1324%88AI 2 8,233
6,586

494
1,153
ORHEZ(2, I 8,875,680 8,876
7,101

53
1,243
odno= 212,4102+82* 122 20,392
16,314
1,204
0 854

= H W = H W = N W = N W

mnoH

=

204 XP 43 2| 27,983 16,380 11,603
22,387
1,677
3,919

SR

=

02 g2 x| 21,158 12,180 8,978
(OESF=1=ENL 135,625 x13H + 123 21,158
16,927
1,269
2,962
03 SEHREHI 6,825 4,200 2,625
O =] 43,7503 138« 128 6,825
5,460
408
Al 957

Mo

=

Mo

lbals] 14,302 0 14,302

101 e124d| 14,302 0 14,302

02 JIEtE 2= 14,302 0 14,302
N 14,302

11,1303 *75A12tx 128 10,017
OoRt2RE 3, 7103 #8Al 2++72Y 2,137




FA OS2
M HARAZH|(OtSESDH)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Ogzo=xd 89, 46521 x4 2,148
=lall 91,412 82,420 8,992
=&l 91,412 82,420 8,992
201 er23y| 43,112 33,660 9,452
01 AtR2t2|HI 43,112 33,660 9,452
QJ12dR+=AA3HI(01=3Y)
500, 00024 *34% 17,000
O38I(0IEZY)
8,000 *x34H 8L« 12 26,112
202 04l 40,800 36,000 4,800
01 =LHN LI 40,800 36,000 4,800
O=UobI(O1=2HI)
20,0002 x34 5L« 12 40,800
203 =8| 7,500 7,260 240
04 PAE2EERFAH 7,500 7,260 240
OJI=&H| 7,500
302! Olat 400,000 123 4,800
030! =1t 5,0002*458 122 2,700
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= 3,142
Al 3,142
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OB DHUI(EBI2) AIB23
6.,284,000& 6,284
= 3,142
Al 3,142
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= 5,898
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